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["JL2902 | 28 B i | 15500 45 AL
[JL2904 | 28 B | 15500 45 AL
[JL2906 | 28 B | 15.600 45 AL
12910 | 28 F A | 17.300 45 AL
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28.900
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19.500
28.500
29.700
29.700
29.700
29.700
29.700
29.700

R CRE)=fEX AR CRE) #

AR

(B 75 (P &0) =AL IR (37 e 2 2 (P ) 3

AL (37 F k) H|_J




e
[%BEI5 1 BER(OA3~13BERD)
SEEWAE . 2018/01/25 ~
7313
] @s [ FEIT - FRIATE
| AT . I'eS on 'S
A (HE) %[ _JL303 | 2851 | 13000 4.100. 1\7700 45E A 12.900. £:15.700
[JLs05 [ 28EAT [ 13.900 18. 45 E AT B:12.500. ﬁwazoo 16100
[JL307 | 28 BT | 19.200 >:20.000. E S kIR 45E M 17700, 5121
[JL309 [ 28EIAT | 20.600 1,400, +:21.700, H:14.100 45 E AT EADLINRP
[JLai1 | 28 BT | 20600 1.400. :21.700. H:14.100 45E M 19000 B12900
[CJLs13 [ 28EAT [ 20600 45 E AT 00, 17,900, H:12.900
[JL3i5 | 28EM | 17.300 45E N 1|7uun 5:13.600
[CJLs17 [ 28EAI [ 15000 45EE
[JL319 | 28BN | 14.800 45E M
[JLs2i [ 28EAT [ 14300 45EE
[JL323 | 28 BT | 14.900 45E M
[JLs2s [ 28EAI [ 16.000 45 E AT 00
[JLs27 | 28EM | 17.300 45E M H:15.800
[JLs29 [ 28EAT [ 17.300 45 E AT 0
[JLs31 | 28EMT | 17.300 000. £:15.000. H:18.300 45E N >23.000. £:13.500. H:17.000
[JLs33 [ 28EAT [ 19.000 000 £:15.000. H:19.300 45 E AT 524,000, +:13.500, H:17.000
[JL335 | 28BN | 19.000 45E M 000. :13.500
W% | _JL300 | 28EAT | 16500 200_5:14.200 45 E AT 14900, H:12.
[JL302 | 28 BT | 17.200 17.300. 16200, B:14.100 45E M 14.900. B:12.700
[JLs0s [ 28EAT [ 17.300 100 45 E AT 14,900, H12.70
[JL306 | 28 BT | 18.400 700, 19200, 5:14.600 458 AT 500, +:16,000. 12900
308 | 28FAT [ 17800 45E 8T ; £:17.000. H:12.700
[JL310 [ 28 B | 15900 20 +:17.700. 8:15.100 458 AT >14.300. £:14.800
312 | 28F81 [ 15900 0. F:15.100 4588 >14.400 £:14.900
[JL314 | 28 B | 14.300 5000 16900 458 AT > 6:14.900. 114800
[JL316 | 28E&T | 14.300 000, £15.100. F17,500 25E8T 16,000 £:13.800
318 | 286801 | 16200 19,600 F:16.000 458 AT 500. +:13.800. B:17400
320 | 28F81 [ 16200 200, 15700, H.19.300 4588
[JL322 | 28 BT | 16.700 >:21.400. +:15.700. H:19.300 458 AT >19.000. £:14.200. 5:17.000
324 | 28 1A | 18.200 300. #:22.000. £:15.200. H:19.300 45EH | 16 .000. £:14.200. H:16.300
[JL326 | 28 BT | 18200 MR £:15.200. 8:19.300 458 | 1 000. £:14.200. 8 10300
[JLszs | 28E#i | 18.300 45ETET | 16!
[JL330 [ 28 B | 17.200 45E M| 1 00017 700" 512300
332 | 28EAT | 14200 2588 | 1 17,000, £:12.000. H:16.000
R (FR =8M | KR (FA) % | JL2051 | 28EM | 10.700 458 | 1 =
[JL2053 | 28 &t | 10,700 25E8 | 1 > £:10.600
[JL2057 | 28 BT | 11.700 | 525 |2 8:11.900. £:11.400 458 | 1 > 5:11.200. £:10.700
[ JL2061 | 28E1#i | 11.700 | 524 |&H:11.900. £:11400 45ER | 1
WM@% | JL2050 | 266W1 | 11.300 | 54% [B:11.000 458 M| 1
[JL2056 | 28 E1#i | 13.200 | _46% |%:16.600. £H16.100 45ER | 1
[JL2056 | 28 BT [ 11.700 | 525 45E M| 1
[ L2060 | 28E&T | 11700 | 524 | — 2588 | 1
W (RE)-AE | RR(AE) | JL253 | 28EWT | 12400 | 645 [E:12800 458 M| 1
[JL2ss | o8B | 17.600 | 498 7,800 EF:13.800 45ER | 1 i
[JL257 | 28EMT | 17600 | 495 7.800. 1+ B:13.800 458 | 1 500" B350
[JL259 | 28E#T | 16500 | 52% 45ERT | 1 12800 _
[Ji261 | 28EMT | 12900 | 63% 3800 458 AT 500, £ 612600
[JL263 | o8B | 12900 | 63% 13,800 4588 500 E H:12.800
[JL265 | 28EMT | 15300 | 564 13.800 458 AT 100 F 5:12.800
267 | 28FAT | 15800 | 548 13,800 45E 8T 800, £ F.12800
ERRE | J252 | 266W1 | 13700 | 60% 000 458 AT 800. H:12.500
[JL254 | o8B | 15300 | 56% 4561 12.800
[JL256 | 28EMT | 12400 | 645 458 AT 500, £ 612600
[JL2ss | o8B | 12400 | 4% 45E 8 00,  B:12.800
[JL260 | 28EMT | 14800 | 57% 3800 458 AT >:15.200. - 5:12.800
[JL262 | 28E&T | 14800 | 57% 13.800 2588 515,200, £ H:12.800
[JL264 | 28EMT | 16400 | 53% 13.800 458 AT 400 £8 12500
[JL266 | 28E&T | 16,900 | 51% 13.800 2588 00 £
TR (RE)-A5 | R (M) F | JL661 | 28BN | 16500 | 505 800 45E AT 500" 55 00, ET7E0
[—JL663 | 28EAT | 17.000 | 57% 00 117500 H!G!uﬂ 25E8T
[JL665 | 28EMT | 16.000 | 60% 45E AT
[Jte67 | 28ET | 15500 | 6i% 1730 45 AT
[JL669 | 28EIMT | 15500 | 61% e ot bR 45E AT
671 | 28EA1 | 16500 | 59% 17 45 AT 600, F1:14.900
K75 | JL662 | 28EIT [ 15300 | 625 _%£:16300 45E AT 12,600, % £:14.200
[—JL664 | 28E#T | 16,000 | 60% & £.17.000 25E8T 200 £:14.500
[JL668 | 28EIMT | 15500 | 61% 16.800 45E AT
[JL670 | 28 BT | 15500 | 6% 16.800 45 AT
[JL672 | 28EMT | 17500 | 564 500, %:18.000. +:16.800. H5:16.400 45E AT
[JL674 | o8BI | 14800 | 6% 15.300 45 AT
TR (RE)-ReA | R (M) 5 | JL623 | 28EIWT | 14600 | 64% £:16.600 45E AT
[JL625 | 28E#T | 16,500 | 60% 000, £:17.800, 14800 25E8T
[JL627 | 28EIMT | 16500 | 60% 0. % £:17.800. H:16.300 45E AT
[—JL620 | 28E#T | 17.000 | 58% JK:16.500 25E AT
[JL63i | 28 BT | 17.000 | 505 kK:15.500 45E AT
[JL633 | o8BI | 15500 | 62% E:16.300 45 AT 14200, B:14.600
[JL637 | 28EMT | 16300 | 60% 17.500 45E AT 14.700_F:14.200, 5:15.100
639 | 28 E1A | 16.600 60% 6.500. #H:17.800. £:16.300 4S5BT 4, 4.800. #H:15.900. £:14.100
FeA% | JL622 | 28EIT[ 16000 | 6% 17.000. F:17.800 458 R | 15 7K:15.000, %:15.800. :15900. B:14.100
[JL624 | 28E#T | 18,000 | 56% 00, 17,700, B17.100 2508 | 14 4700, £+ 15300
[JL626 | 28 BT | 16800 | 505 45E AT 7K :14.200
[JL628 | 28EAT | 15800 | 62% 15300, %16.300 25E8T 814,700, ;kmou F14200
[JL630 | 28EMT | 17500 | 57% 000. +:17.300. B:17.400 45E AT
[JL632 | 28E#T | 16,000 | 61% 25E8T
[JL63a | 28BN | 17.000 | 505 45E AT
[JL63s | 28BN | 16700 | 59 45Ew] 14
B (FE) =E R (FE) S [ _JL68T | 28B AT | 15500 62% 5 8 Al
[—JL689 | 28EAT | 15500 | 62% 2508 | 14
[JL6o1 | 28 BT | 16300 | 60% 45EAT | 14
[JL693 | 28E#T | 16,800 | 59% 25E8T
[JL695 | 28BN | 16800 | 505 45E AT 14
697 | 28EA1 | 16300 | 60% 17800 45Ew ] 14 %:15600._£:13.900. H:15900
BHG5% | _JL688 | 28 BT | 15800 | 62% 0. 17500 5360 45EAT | 14 000 42000, B 5500
[JL6o0 [ 28EwI | 15700 | 62% 716,500 £:16.800. H:15.800 45 AT 14,800, B1:13.700
[JL692 | 28 BT | 15200 | 63% 3:16.300 45EAT | 13 13,7
[JLeo4 | o8BI | 15300 | 63% 16,500 £:15.800 45E W] 13 B4
[JL696 | 28EAT | 15500 | 625 500, H:17.300 45ERT| 14 13,700, H:15.300
698 | 28 A1 | 15300 | 63% 45E AT 14,500, F:13.200_ H:14800
641 | 2881 12500 | 71% 45ERT| 12 14,300, 14,800, 15,300
643 | 28EA1 | 15000 | 66% 45E AT %:15600. 16,400, H:13.700
645 | 2881 [ 17000 | 61% 45E AT 00, +:16.500, H:13.500
647 | 28EA1 | 14000 | 68% 45E AT 313,700, %:14.900. F-13.500. B:14000
[JL6a9 | 28EAT | 14.000 | 68 45E AT 00, £:14.100, +:13.500, H:13900
[JLe51 | 28EMT | 13.000 | 70% 45E AT %:14.000
653 | 2881 13000 | 70% N 45E AT 13,200, %1460, B:15.900
655 | 28R | 13000 | 70% 5000, 117,000, B:17.600 45E AT 13.200. 14,800, B:15.900
BERER 640 | 2881 | 12.100 | 72% 100, £:16.600 45E AT 14,200, £:15.500
642 | 28EA1 | 14000 | 68% 16,800, F:17.500 45E AT H:14.700_£:15.900
644 | 28E A1 [ 13000 | 70% 16,800, 17,000 45E AT 14,800, 314,900, B:14.700
646 | 2881 | 13000 45E AT 14200, B:15.200
648 | 2881 | 15000 45E AT 14,000, F:14800
[JLe50 | 28 1T | 14.000 45E AT
652 | 2841 | 13,000 45E 81 | 12500 000,
654 | 28 A1 | 13000 45E AT 500 300
KR () i (F ) % | JL2163 | 28 A | 17,000 45E AT 00 7.0
i) 2164 | 28 BT | 17.300 45E AT 00 17,56
KR (FA =B | KR(F) % | L2201 | 28E81 | 15300 45E AT 15200 | mu;xmsno ﬁuson F.18500
[JL2203 | 28 AT | 18.000 45E AT 200 > 18500, F.1
[JL2205 | 28 BT | 17.000 45E AT | 16.100 K:15.100, EEaIT ARy
[JL2207 | 28 BT | 17.500 16500 45E AT 800 £H.17.000
[JL2200 | 28 BAT | 17.000 900, 17,600, H:19.700 45E AT | 16,100 15,500, F:18.800
2211 | 28 BT | 20,000 %18 900 F:17.600. B:21000 45E AT 700 5500, F:20.100
2213 | 28EHT | 18.100 8,900 +:17,600, H:21,000 45E AT 17200 20.100
2215 | 28 BT | _18.100 45E AT 00 18.800
AR 2200 | 28 B8 | 17.200 45E AT | 16200 17.700
[JL2202 | 28 AT | 18.200 45E AT 200 7.800. H.16.700
[JL2204 | 28 EIAT | 17.200 45E AT 00 16.700
[JL2206 | 28 AT | 17.600 45E AT 600 200, H:16.700
[JL2208 | 28 AT | 16.500 17,500, 45E AT | 15600 18,300, $17.100, B:17.900
28 A1 | 17.500 19.100. 18,000 45E AT 600 £:17.100
2881 | 17.500 19.100, :16.000 45E AT 600 £:17.100
28 A1 | 15.300 > H:19.100. £:16.300 45E AT 200 18.500. 15,500, B:18.200
KR (G -El | KR (A% 28 81 | 13,900 700, H:13.400 45E AT | 13,100 12,600
2861 | 14.400 £:16.200. H:13.900 45E AT 600 13.100
28 A1 | 12.400 45 E AT 000 13.300
28671 13900 45E AT 100 15.800
EBR 2 [ 28EAT | 13.900 45 E AT 00 14.900
4 | 2861 |_12.400 N 45E AT 000
6 [ 28EAT | 12.400 12500, 14800 45EH1
2378 | 28 BT | _15.200 300, :12.400. H.15.800 45E AT 800, £:12.300_ H:14.900
KO (7% % | L2383 | 28 EAT | 12.000 500, +:13.800, F:11.800 45 E AT 11,600, 212,000, 13,300
[JL2385 | 28 BT | 12.900 200, 5:12.400 45E AT 700. B:11.700
(L3881 | 28 EAT [ 12.900 14,800, H:12.400 —
2389 | 28 BT | 14.200 14800, 1:11.800 a5ER %H.14.300_.11600
(L2382 | 28EIAT | 13.400 | 49% [J(:14.700, $:14.400. H:14:300 45ERT] 11, 56% | @ +:12.800. H:13.200
3880 | o8BI | 12400 | 534 —
[JL2386 | 28EAT | 12.400 | 534 G5EE | 1 56% 00, 112800, H.13.700
2392 | o8BI | 13700 | 48% SR 7800 |t A 10D A4 700 14005
RO (7 % | JL2401 | 2881 | 12700 | 58% 45ERT[ 12000 | 606 12,900, H:11.600
[JL2403 | 28T | 14300 | 50% 45E W | 13800
[JL2407 | 28 BT [ 14.300 | 525 45E AT | 13800
[JL2409 | 28 BT | 13400 | 55% 45E W | 12600
2411 | 28HAT | 13400 | 55% 45ERT | 12600
2415 | 8B | 12600 | 58% 400 E:12.700, H:14.800 45E R | 11.900
2419 | 28HAT | 13.400 | 55% 000 +:12.900. H:15.300 45EE1 | 12,600 3 N
ERER 2400 | 28 BT | 12100 | 60% 400, H:12.200 45EW | 11900 | 60% [:11.500. £:12,900. H:11.600
2402 | 28EAT | 12100 | 60% 000_£:12.900__H:12500 45ERT | 11900 | 604 [:11.500, :12.800, +:12.400, H:11800
[JL2404 [ 28 BT | 12100 | 60% 000 H:12.900 45EWT | 11900 | 60% [:11.500. $:12.800. £ H:12.400
[JL2406 | 28 BT [ 12.100 | 60% 12900 45ERT[ 11900 | 604 [A:11.600. 100
2410 | 98B | 13,000 | 57% 300. 14800 45EW | 12800 | 57% 2.400. :14.400. H:14.000
[JLza12 [ 28EAT | 14800 | 51% 13900 45ERT| 14000 | 534 [AA:13.100, %:14.100, £:12.600, H:14800
2414 | o8B | 14800 | 51% 45EWT | 14000 | 53% [XA:13.100. %:14.100. F:12.600. H:14.800
AWM TR -BA LML) 5 _JL2603 | 28EHAT | 11500 | 62% 45ERT | 8600 | 64% [+9.700
[JL2805 | 28T | 11.500 | 52% 45E W[ 8600 | 6an
[JL2800 | 28 EAT | 12,000 | 505 [KA:11500 45E 81 | 0100 | 624 |KAB600
EHR | JL2804 | 286 WI | 12800 | 47% [k 11500 45E W | 9700 | 604 [ksK8600
[JL2806 | 28 BT | 11,500 | 525 45ERT[ 8600 | 6%
2810 [ 98B | 11.500 | 52% 45E W[ 8600 | 64
AWM G TR KE LML T /) 5 _JL2621 | 28EA1 | 13,100 | 53y [:14.400 45ERT[ 10000 | 64% [:11.100
2827 | o8B | 13400 | 524 [B:14.700 45EW | 10000 | 64% [H:11.100
ECE] 2822 | 08EAT | 13400 | 524 [F:14.700 45ERT[ 10000 | 64% [E:11.100
2828 | 98B | 13.100 | 534 |%:13.400 45EM | 10000 | 64% [+:11.100
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R (FE)=AR () | RRCHE) R 400, F:8.400
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458 £:11.000. H:9.600
458
458
458
458
458
458
458
458
458
KR (R FH % 458
458
458
458
458 K
458 100
458 100
458 100
458 100
| 45EIT | 10100 | 200, H:0600
458 700 100, £:9.200. B
458 700
458 000
458
458
B (FIH) =48R/ RERECRE) % 458
458 H.12.100
458
458
458 ¥
45ERI | 16900 00
45ERI | 14900
45ERI | 12.900
45ERI | 12.900
45ERI | 12500
[J 25881 | 13.900
[ 45ERI | 14900
[ 458 900
[ 458 000
45E 8 | 16.000
458 000
288 458 000
wEE | J 28H 458 500
[J 288 458 500
[J 288 458 500
[J 288 458 300
[J 28 B A | 45H i | 16300
L. 288 45H i | 13900
L. 288 45H I | 13900
L. 288 45H I | 12900
L. 288 45HAI | 12900
[J 28 B A | 45H I | 13900
[J 288 458
[J 288 458
[J 288 458
[J 288 458
[J 288 458
[J 288
288
KR () =1&R KR () 5| J 283_
28
[ 288 111,900, £:11.400 1.200_ £:10.700
288 111,900, £:11.400 1.200. +:10.700
1EE%E 288 1,000
[ 288 2800, F H:12.400
[ 288
[V 288
R (HE)=LES RERERCAE) | _J 288 2.800
[J 288 7,800, H:12.800
[J 288 7.800. 1 H:12.800
[J 288
288
[J 288
[J 288
288
Le% | J 268
[J 288
[J 288
[J 288
[J 288
[J 288
[J 288
[J 288
R (FE)=E8 EREBE) R J 28H
[J 288
[J 288
[J 288
288 00, £:13,500,
[J 288 114,900, +:13,200
288 114,900, 13,200 EH:12.100
BB | J 288 4500, H:13,200 +:12.100, B:11.200
[J 288 [ 11,600
[J 288 45H | 11600
[J 288 45H ] | 11600
[J 288 45H ] | 11600
[J 288 45H ] | 11600
288 45H ] | 11600
R (HE) =84 RER(PE) R 28H A5H B | 200
[J 288 45H ] | 13200
288 458 500 12,600, F:1
[J 288 458 000 4,200, F:11,600, H:13,700
288 458 900 300, F:11,600, H:15,600
B [ J 288 458 700 2,000
[J 288 458 200 13500, B:12,500
[J 288 458 500 512,600
[J 288 45H ] | 14400 5500, 12,800, H:14,300
[J 288 45H 7] | 15900
WRE) AL | RR GHE) R 288 [ 25E8 | 12200 |
[J 288 45H 7] | 15800
[J 288 000
wilg | J
RR(HHE)=X% RRERCRE)F| J
Aeg [ J
JL 5300«114000 515,700
R (PH) =28 RRERCRE)F| J
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- 9/18-20,9/25-30
3TA FxE{7B
B B I T o HET pron HET prom
AR | T | diEiE _ BEA #I31%
BRCHE)-ER, T (FIM) 3| _JL641 | 28H AT | 16.300 63% 12.500. +:16.800 458 14.400. £:14.900
L643 | 28 H Al 17.500 60% 45H
L645 | 28 H Al 17.000 61% 45H
L647 | 28 H Al 14.000 68% 45H
L649 | 28 H Al 14.000 68% 45H
L651 28H A 13.000 70% 45H
[ J 3 | 28 5 AT 16.000 63% 45H
L655 | 28 H Al 16.000 63% X 16.500. H:17.300 45H
BERER L 28 AN | 12.100 | 72% 100, £:16.600 458
L 28H A 16.800 000, 1:17.000 45H
L 28H A 16.800 .000. 1:16.500 45H
L 28H A 16.300 .000. H:17.300 45H
28H A 16.800 1 45H
28H A 17.000 45H
28 AT | 17.000 458
28H A 16.500 45H
KR (7} i () 3 28 A | 17.000 458
R 28 B | 17.300 458
KB (D =IL& KR ()R] J 28R [ 15300 458
28 A | 18,000 00._H:16.300 458
28 A | 17,000 6,000 % *:18.500. B:16.300 458
28 EIA | 17.500 16,500, F17.000. H18.100 458
28 A | 17.000 A 458
28 A | 18.900 458
28 IR | 18.100 458
28 TR | 18.100 458
xS 28 TR | 17.200 458
28 ETA | 18.200 458
28 IR | 17.200 458
28 A | 17.600 458
28 A | 16500 458
28 A | 17.500 458
28 A | 17.500 458
28 A | 15300 458 15,000, F:19.100
RIR () =R KR () 5 28 AT | 13,900 458
28 A | 14400 458
28 ETA | 12400 458
28 A | 13.900 458
[ 28EI A | 13900 458
28 ETA | 12400 458
28 EIA | 12400 458
28 EIA | 15200 458
KR (B ) =R KR (F753) $&[_JL2383 | 28 E1Ail | 12.000 458 11.600
28 IR | 12.900 . 458
28 A | 12.900 12,700, H:12.400 —
28 EIA | 14.200 11,800 45E AT 13,900, £:11.600
233 28 B Al | 13400 300 H:13.900 45 BBl 11,500, % 1:12.400
28 IR | 12400 900 —
28 EIA | 12400 8:14.100 45E AT 12,800, B:13.300
28E I | 13700 14,700 45 AL 51% 4100, % 514200
KR(BH-ERE | KRR 28E Al | 12700 H:12 4587 | 60% | F:12.900. H
28E I | 14300 113,900, £:14.900 4587 | 54% $13.400. % 12500
28E I | 14300 3,900, F:14.900 4587 | 54% 3400, 14300, H:12.500
28 | 13400 0 4587 | 58% H.13.400
28E A | 13400 45 AL 58%
28E A | 12600 45 AL 60%
28E A | 13400 45 AL 58%
BERER 28E AT | 12100 45 AL 60%
28E AT | 12100 45 AL 60%
28E AT | 12100 4587 | 50%
406 | 28 E1 Al | 12.100 45 AL 60%
28E A | 13000 600, +:14.900. H:14.400 45 AL 57%
28 | 13900 800, 215,000, +:13.400, H:15.300 45 AL 56%
28E AT | 13900 800, %:15,000. £:13.400. H:15.300 45 AL 56%
REFFR)=-HH WIRFF&) A L2803 | 268A1 [ 11500 400 458 A | 64% | £:9.400
["JL2805 | 28 E i | 11,500 4587 | 64%
12809 | 28 E1 Al | 12,000 FKA:11.500 4587 | 62% | /KA:8.600
@5 | JL2804 | 28ENAI | 12,400 X K:11.,600. F:12.800 457 | % | J7k:8.600. K:9.700
[JL2806 | 28E i | 11,500 45 E A |
12810 | 28 E1 Al | 11,500 [ 45 E A |
FURBFR)-FKE LI (Fr T %) 5{_JL2821 | 28EIAT | 13100 £:14.000. B:13.400 4587 | 110,800
12827 | 28 E1 Al | 13.400 300 4587 | 800
HER 12822 | 28E1EI | 13400 4587 | £:10800
12828 | 28 F Al | 13.100 45 B R | £:10800
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0714
= &4 FHATA /7B
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A
RIR (FH) =48R KR (7 FH | J | 2881F
[y 286
[y 286
286
wEE | J 285
[ 286 7K:12.300 K:11.500
[y 286
[y 286
BR(FE)=LES RERCAE) | J | 2881F
[J 286 Z:17.800
[J 286 A:17.800
[J 286
286
[J 286
[J 286
286
hEx | J 288
[y 288
[y 288
[y 288
[y 288
[y 288
[y 288
[J 288 17400
B (FE)=X5 RRECAE) % 286 -
[J 288 [B:16.500
[J 288 [B:15.500 H:14.500
[J 288 A:16.000 5:14.800
[J 288 [B:16.500
288 [
xN%E | 288 [X:14.800 X:12.600
[J 288 [X:15.500
288 A:16.000
288 [5:16.000
288 [K:17.000. 16500 15500
288
R (A R CAE) 5[ J 288 6.100 14800
[J 288 7,500
[J 288 7,000 A:17.500
[J 288 7K:16.500
288 7K:15.500 XK:14500
288 _
[J 288 1.16.800 H:14.700
288 1:16.800. /16,500 H:14.800
AR [ J 286 116,500
[J 288 117500 2700
[ J 28H ¢7K:16.300 7K:14.200
[J 288 1:16.800. /K:15.300 700 /K:13.100
[J 288 17,000 700, K:15.300
[J 288 H:17.000. X:15500 900 K:14,500
[J 288 00, 16,500 300
[J 288 00, 7K:15.300, :16.800 Sk 13100
R (FH)=2& RERERCAE) | _J 283 A:15.700
28
288 15500, 7K-16.000 [XK:14.100
[J 288 800, 7K:15.800 [B:14.700. /K:13.700
[J 288 800, 15,800 [H:14.700
288 115,800 [&K:13.700
EEE 288 300 [H:14300
[J 288 115,500
[J 288
[J 288 H:14.700
[J 288
[J 288 K13500
RKRCABE)-ERS HRECAE) & 288 H:13.700. A:14.300
288 &K:14.500
[B:13.700
¥ [B:13.700
800 700
[ 600, 7K:16,000 200, :13.200
500, K:16,000 200, K:13.200
ERER 100 [A.13.
300 [5:13.900
X 900
800 X:15.900 700, K:13500
300, 7K: 16,500 200
500, 7K:17.000 K:13.500
000 5,000
000 <:14.600
0 () 3
R
KR () =l& KR (R %Y 7k:15.800 7k:15.700, X:16.100
X:18.400 K750
21,000 720,200
[=E 3
K#:19.000
KB () =Ris KR (77 % K 7K:14.400
J7K:15.800
RI&SE 15,200
288
288
288 KA:15,200
KB () =FE KR () f [ JL2383 | 288 —
[JL2385 | 288 14,200 458
[JL3881 | 28H ;13,100 —
2389 | 288 ) 7K:12,900 45H7] KK:11.500
FeAsE | JL2382 | 28R k13,400 45 KAA1500
[JL3880 | 28H —
[[JL2386 | 288 4587 |
392 | 28 15000 45871 | A:14100
RIR ()RR E | AW (G 5| J2401 | 2881 4568 |
[JL2403 45881 | 13 13,400
[JL2407 45871 | 13400
[JL2409 45688 |
411 45688 |
415 4588 |
419 4588 | T
BER&R [ JL2400 45871 | [ 11500
[JL2402 45871 | [A:11.500
[JL2404 45871 | [A:11.500
[JL2406 45871 | [:11.500
410 45871 | [ 12,400
412 X:14.800 458 [ X:14.000
414 X:14.800 45871 | [ 14,000
AMEEFR)=BE LR (BT H_JL2821 4587 |
2827 4588 |
ERE [ J2822 45688 |
2828 45887 |
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T0/5-18
] @s [ FEIT - FRIATE
| AT . I'eS on 'S
A (HE) %[ _JL303 | 2858 [ 13000 >:14.600. 1:17.700 45E A 12.900. £:15.700
[JL305 | 28E&1 | 14.000 0. F:18.200 45EE B1:12500. ﬁwazou 16100
[JL307 | 28 BT | 18.800 0. £:20,000, H:13.800 45E M 17700, 5121
[JL309 | 28E#l | 20.300 100, 21,400, H:13.900 45EE EADLINRP
[JL3i1 | 28EM | 20300 100, £:21.400. B:13.900 45E M 19000 B12900
[JL313 | o8EEl | 20300 45EE 00 % +:17.900. H:12.900
[JL3i5 | 28EM | 17.000 45E N 1|7mm 5:13.600
[JL317 | o8B ] 14.700 45EE
[JL319 | 28EMT | 14.500 45E M
[JL321 | o8EEi | 14.000 45EE
[JL323 | 28 BT | 14.900 45E M
[JL325 | 28E#1 | 16.000 45EE 00
[JLs27 | 28EM | 17.000 45E M H:15.800
[JL320 | o8E@i | 17.000 ¥ 45EE 0
[JLs31 [ 28EM | 17.000 000. £:14.700. H:18.000 45E N >23.000. £:13.500. H:17.000
[JL333 | o8E@1 | 19.000 000, £:14.700 45EE F24.000, £:13.500, H:17.000
[JL335 | 28BN | 19.000 45E M 000. :13.500
W% | _JL300 | 28EAT | 16500 200 +:17.000. 6:14.200 45EE 14,900 B:12.
[JL302 | 28 BT | 17.000 100 45E M 14.900. B:12.700
[JL304 | 28E&1 | 17.000 100 45EE 14,900 B12.70¢
[JL306 | 28 BT | 18.300 400 £:19.200, H:14:300 458 AT 500, +:16,000. 12900
308 | 28FAT [ 17500 B:14.400 45E 8T ; £:17.000. H:12.700
[JL310 [ 28 B | 15900 o0 +:17.200. 8:14.900 458 AT >14.300. £:14.800
312 | 28F81 [ 15900 0. F:14.900 4588 >14.400 £:14.900
[JL3i4 | 28 BT | 14.000 | 66% 5060 16900 458 AT > 6:14.900. 114800
[JL316 | 28E&T | 14000 | 66% 000, 15,100, F17.200 25E8T 16,000 £:13.800
318 | 288001 | 15900 | 61% 19.300_F:15.700 458 AT 500. +:13.800. B:17400
320 | 28 YA [ 15.900 61% 900. +:15.300. H:19.000 4S5BT
[JL322 | 28EWT | 16,700 | 59% [%:21.100. £:15.300. H:19.000 458 AT >19.000. £:14.200. 5:17.000
324 | 28FAT [ 18000 | 564 |%:22.000. £:15200. H.19.000 4588 1000 £:14.200. :16.300
[JL326 | 28 BT | 18.000 | 56% R, 5:19.000 458 AT 000. £:14.200. 8 10300
[JL328 | o8E&T| 18,000 | 564 000, 1 45a 8
[JL330 [ 28 BT | 17.200 | 58% 0014700 19000 458 AT 00017 700" 512300
332 | 28FAT [ 14000 | 66% :13.000. F:17.000 4588 717,000 £:12,000. H:16.000
(PR =8M | KR () % | JL2050 | 28ET | 10700 | 57% 458 AT =
[JL2053 | 28 AT | 10.700 | 7% 45 AT b £.10.600
[JL2057 | 28ET | 13200 | 46% |&+H.12800 458 AT £5:12.100
[ JL2061 | 28 B | 12600 | 49% |&H:12.800. £12.300 45E AT -H:12.100. £:11500
WM@% | JL2050 | 266 W1 | 12200 | 50% |B:11.800 458 AT 3.11.200
[JL2056 | 28 VAT | 12300 | 50% [A:13.200. £H:12.800 45 AT 12,400 £ H:12.100
[JL2056 | 28 BT [ 11.700 458 AT
[JL2060 | 28 &t | 11.700 — 2588
W (RE)-AE | R (AE) % | J253 | 28EM | 12400 12800 458 AT
[JL2s5 | 28 BV | 17.600 7,800 EF:13.800 4588 16,900 E H:12.800
[JL2s57 | 28EM | 17.600 7.800. 1+ B:13.800 458 AT 6.900. £ 5:12800
[JL259 | 28 E1#i | 16.500 £ H.13.800 4561
[JL261 | 28 B | 12.900 4.300. £ H:13800 458 AT 12800
[JL263 | 28 B | 12.900 4588 12.800
[JL265 | 28 B | 15300 458 AT 12,800
267 | 28F81 | 15800 6.700. £ F.13.800 45E 8T 12800
ERRE | _J252 | 288 | 13700 3,800, B:13.000 458 AT 500
[JL254 | 28E#i | 15300 13.800 4561
[JL256 | 28 BT | 12.400 £ H:13.400 458 AT
[JL2ss | 28 B | 12400 B:13.400 45E 8
[JL260 | 28 BT | 14.800 200.  B:13.800 458 AT
[di262 | 28E#i | 14.800 16200, £ B:13.800 45E AT
[JL264 | 28 BT | 16.400 + 513800 458 AT
[JL266 | 28E&T | 16,900 %17.900. £H 13,800 2588
TR (RE)=A5 | R (AE) 5| JL661 | 28EM | 16500 :14.800 45E AT
[JL663 | 28E&T | 17,000 X7 200 %17.600. £:17.80 700 25E8T
[JL665 | 28E#1 | 15500 kA 45E AT
[JLe67 | 28E1# | 16.000 45 AT
[JL669 | 28E1#1 | 16.500 45E AT
671 | 28681 [ 16500 45 AT
R7% | JL662 | 28EA | 15300 45E AT
[JLe64 | 28 B0 | 16.000 EE 45 AT
[JL668 | 28B4 | 16.000 *: 45E AT
[JL670 | 28E#T | 16,000 T 25E8T
[JL672 | 28 B8 | 17.500 [k AT R RITI0Y 45E AT
[JL674 | 28 BV | 14.800 [2B8:17.000E 45 AT 00
TR (RE)-RA | R (M) 5| JL623 | 28 B | 14.600 15,100, A%:16.100. F-16.600 45E AT +:14.800. %:14.200, B:13.200
[JL625 | 28E#T | 16,500 [X%17.000, 17,500, 17,800, H14.800 25E8T 900
[JL627 | 28E1#1 | 17.500 16.300 45E AT 4.200
[JL620 | 28E#T | 16.800 500. 25E8T
[JL63i | 28E# [ 17.000 16,000 4:16.800. 15500 45E AT ATA500. % £ 815300
[JL633 | 28E#T | 15,500 0. £:16.300 25E8T 0 £.14.200. B:14.600
[JL637 | 28B4 | 16.800 [k £:16.300. B:17.500 45E AT SO 70 15 100
639 | 28EIA [ 16.600 | H:16.800. %:16.500. % H:17.800. £:16.300 45B1AT 800, :15.300. % H:15.900. £:14.100
FeAs | JL622 | 28EA | 17.500 kK:17.000 E:17.800. H:16.400 45E AT :.15.800. :15.900. B:14.100
[JL624 | 28E#T | 18,000 500 18300, 18,500, £:17.700. H17.100 25E8T 14.700. KA B:14.800
[JL626 | 28B4 | 16.800 300 45E AT 0
[JL628 | 28 B0 | 16.800 ETER0. % 16300 45 AT 100, AE:13.700_ 214200
[JL630 | 28 BT | 17.500 k 18.000. £:17.300. B:17.400 45E AT 0. X:15.900. :14.800
[JL632 | 28E#T | 16.000 25E8T 15000216400, 14,800, B:16.200
[JL634 | 28 B8 | 17.000 45E AT 0. %:16.400. +:14.800. H:16.800
[JL638 | 28EAT | 16,800 25E8T
TR (RE)-EM | R (M) 5 | _JL687 | 28B | 15500 45E AT
[JL689 | 28E&T | 15,500 300, 25E8T
[JL691 | 28E# | 16.300 800 45E AT
[JL693 | 28E#T | 16,800 800. 25E8T
[JL695 | 28E#T | 16.800 300 45E AT
697 | 28 1A | 16.300 800. 4S5BT 700. 7K:13.700. #:15.600. *£:13. H:15.900
BH% | _JL688 | 28 BT | 15800 300, ¢:17.000. %:16.800. :17.500. H:15.300 45E AT B T4200 14 100 14850 B 13300
[JL690 | 28E#T | 15.700 300, 500. 216500 £.16.800. B:15.800 25E8T J14.300. %.14,500, £14.800. H:13.700
[JL692 | 28E#T | 15200 800 45E AT 4:14.800. %:13.900. £:13.700 B 1470
[JL6o4 | 28BN | 16.800 45E AT K%.13.600, % H:14.800. F1
[JL696 | 28581 | 15500 45881 #:14.700, %1550, 113700 SRR
698 | 28 A1 | 15300 45E AT 0. £:13.200
641 | 28H A | 12500 45881 00_%:14.300. ﬁmaon 1wsano
643 | 2881 | 15000 45E AT 14,500, %:15.600. 16400, B:13.700
645 | 28H A | 17000 45881 00, +:16,500. H:13.500
647 | 2881 | 14000 45E AT 700, J:14.700, %:14.900_ F:13,500. 14000
[JC649 | 28581 | 14,000 N 45881 00_k:14.700, %:14.100, +:13.500, H:13.900
[JLe51 | 28E# | 13.000 300 s 0. FTTI00 45E AT 14700, J¢:14.300. %:14.000
653 | 28H A1 | 13,000 17,000, B:18.200 45881 200, :13.200, %:14.800, H:15.900
655 | 28 A1 | 13000 6.000. %:17.000. H:17.800 45E AT 200, 7:13.200. %:14.800. H.15.900
BERER 640 | 28H A | 12.100 16.100_£:16.600 45881 00, 2k:14.300. %-14.200. :15.500
642 | 28 A1 | 14000 7300, % H:16.800 17500 45E AT §.13.600. 4¢:15.200. % B1:14.700_E:15.900
644 | 28H A | 13000 0% 5:16.800. +:17.000 45881 700, X:15.200, %14.800, +:14.900, H:14.700
646 | 28 A1 | 16800 oo 7,500 45E AT 12500, % £:14.200. B:15.200
648 | 28H A | 17.300 500, A:15.000, %:16.900. £:16.200, H:17.500 45881 00, 7KK:13.800, +:14.000, H:14.800
[JLe50 | 28 B | 17.500 000, 7:14.000. %:18.000. +:16.700. H:18.400 45E AT 300, 7K:15.000. 13,500, %:16.100. 14400, 615900
652 | 28H A | 13,000 6.000. 18800 +:15,800. H:18.400 45881 15, 16.1 3.7 0
654 | 28 A1 | 13000 00. %:18.100. £:15.800. H:18.400 45E AT 14300, %:15.300. F:13.70
KR () i (F ) % | JL2163 | 28 A | 17,000 45881 17,00
i) 2164 | 28 BT | 17.300 H:18.600 45E AT 7.5
KR (FA A | KR(F) 5 | L2201 | 28E81 | 16.800 15,800, %19.600__£:20600 45881 700, A:16.100, %:19.100, £:20000
[JL2203 | 28 AT | 19.600 .20 6,800 45E AT 20,100 H:16.700
[[JL2205 | 28581 | 17.400 18,400, %18.500, £:20600. H:16.800 45881 A:17.500, £:18.000, £20.100, H:16.700
[JL2207 [ 28 AT | 17.600 + 618600 45E AT [2£H:18100
[[JL2209 | 28581 | 18.400 19,400 +:19.000_ 521,200 45881 16,000, 5:20.300
2211 | 28BT | 19.900 00_£:19.000. H:22.000 45E AT 20,500, :16.900. H 21500
2213 | 28 EH1 | 19,100 21,000, 19,000, H:22,000 45881 16,900, H:21.500
2215 | 28 BT | 19.100 45E AT 17,500, B:20.300
wa% 2200 | 2881 | 18,300 45881 £:18.800
[JL2202 | 28 BT | 19.700 18,600, %2000, 120400 E9100 45E AT 19.100. F-19.300. B:18.100
[[JL2204 | 28581 | 18600 | 46% |X:19.700. &+:19.800, B:1 45881 19.100__+:19.300. 8:17.100
[JL2206 | 28 BT | 18.700 | 6% [k&+:19800. H:19.100 45E AT £:19.300_ H:18.10
["JL2208 | 28E#1 | 17.000 | a8% 00 %20700. +:19.600. H:20500 45881 19.800. +18.500. H:19.400
28R | 17900 | 48% 000, % H:20.700. :19.600 45E AT ST T-E Y AT
28 14T | 17.900 | 48k 000, % H:20.700, F:19,600 45881 % H:20.200, + 18,500
288 | 16.800 51% 400, £:17.700 45EVAT
KR () =i KR (P 28EA] | 14400 50% B 900, £:15.700, B 5B 81
28 | 15800 | 45% | AK.14.400. £:16200. B:13900 45E AT 15600, H:13.100
28B4 | 12400 | 57 45EH1 13.300
28 A | 13900 | 5% 45E AT
L] 2 [ 28E A | 13900 | 52% 45EH1 14,800 F:14900
4| 2861 | 12400 | 57% 45E AT 14.400
6 | 28E A | 12400 | 57% 45EH1 +:13.300, H:14.300
2378 | o8BI | 13.900 | 524 | kA 45E AT %:14.800. £:13.600. H:14.900
KR (G %) 3¢ | JL2383 | 28E AT | 12000 | 54% 500, 45EH1 A H:11.600, & £:12.000
[JL2385 | 28 BT | 12900 | 5% % +14.200_ H:12.400 45E AT Jc& £:13.700. B:11.700
[CJLossi | 28E @I | 12,900 | 5i% 3,100, £:14.800. H:12.400 —- —
2389 | 98BI | 14.200 | 46% 2.900. % H:14.800, 111800 45EW | 12800 | 51% |AK11500, ZH:14300. £11600
[JL2asy [ o8 Edi | 14.700 | a44% SRR 14,400, 513,000 45EET | 12800 | 51% | XA:11,500, H:11.900
3880 | o8BI | 12400 | 534 4. — ——
[(JL2as6 | 28E @I | 12400 | 53% |&F St 15 0% T5EE | 1 P 13,700, 114100
2392 | o8B | 13700 | 48% 415000, ﬁ\szou IS0 45E W | 12800 100, a&umo ETE60
RIR (G ) 56 | JL2401 | 28E A1 | 12700 | 584 |&+:14300, H.1 45EET | 12,000
[JL2403 | 28T | 14300 | 50% 45E W | 13800
[CJLoa07 | 28E#I | 14.300 | 524 45EE1 | 13.800
[JL2409 | 28 BT | 13400 | 55% 45E W | 12600
2411 | 28EHI | 13400 | 55% 45EET | 12,600
2415 | 8B | 12600 | 58% 400 E:12.700, H:14.800 45E R | 11.900 3
2419 | 28 EEI | 13400 | 55% 900 +:13.800. 8:15.300 45EE1 | 12,600 H:14.400, £:13.100
ERER 2400 | 28 BT | 12100 | 60% 400, H:12.200 45E W[ 11.900 11,500, +:12.900. H11.600
2407 | 28 EE1 | 12.100 | 60% 000, 13,800, 12,500 45EE1 | 11.900 500, %:12.800. +:13.300, H:11800
[JL2404 [ 28 BT | 12100 | 60% 000, £:13.800. H:12.900 45E R | 11.900 500. %:12.800. :13.300. H:12.400
[JL2406 | 28E &I | 12100 | 60% 000, 13,800, H:12.900 45EE1 | 11.900 11,500, %:12.800, +:13.300, H:12.400
2410 | 28EMT | 13,000 | 57% | +:15300. B:14800 45E W | 12800 12.400.£:14.400. H:14.000
[CJLoats | 28E#1 | 13,900 | 54% |X:14,800. %:16.000, 13400, H:15.800 45E%1 | 13.100 000, %:15,000._F12.600. H:14.800
2414 | 28EIMT | 13.900 | 54% |%:14.800. %:16.000. £:13.400. H:15.800 45E W[ 13.100 15.000. 12,600, B:14.800
AWM GTTR) -BA LML/ 5 _JL2603 | 28EHAT | 11500 | 6% 12.800 45EE1 | 8.600
[JL2805 | 28T | 11.500 | 50% 45E W] 8600
[JL2800 [ 28E &I | 11.500 | 524 |&H12000 45EET | 8.600 $H9.100
EHR | JL2804 | 286 W1 | 11500 | 524 [%F:12800 45E W] 8600 $1.9.700
["JL2806 | 28E @I | 11.500 | 524 45EET | 8.600
2810 [ o8B | 11.500 | 52% 45E W] 8600
AU B TR RS JRLUR (37T M) 5] JL2821 | 28HAT | 13400 | 5% [&:14.700 45EE1 | 10,000 F11.100
2827 | o8B | 13400 | 524 [F:14.700 45E W 10000 H:11.100
ECE] 2897 | 28E1EI | 13400 | 624 [F:14.700 45E 81 | 10,000 % [ F11.100
2828 | 28 BT | 13400 | 52% 45EM | 10000 | 64% [+:11.100
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T0719-27
EU) '3 - FERTIAT - FEI7B
| AT . I'eS on s
A (HE) %[ _JL303 | 2858 [ 13000 >:14.600. 1:17.700 45E A 12.900. £:15.700
[JL305 | 28E&1 | 14.000 600 £:18.200 45EE B1:12500. ﬁwazou 16100
[JL307 | 28 BT | 18.800 >.19.700. :20.000, 613800 45E M 17700, 5121
[JL309 | 28E#l | 20.300 100, 21,400, H:13.900 45EE £:19.000. B 12.900
[JL3i1 | 28EM | 20300 >:21.100. :21.400. H:13900 45E M 1|suun §:12.900
[JL313 | o8EEl | 20300 45EE 00 % +:17.900. H:12.900
[JL3i5 | 28EM | 17.000 45E N 1|7uun 5:13.600
[JL317 | o8B ] 14.700 45EE
[JL319 | 28EMT | 14.500 45E M
[JL321 | o8EEi | 14.000 45EE
[JL323 | 28 BT | 14.900 45E M
[JL325 | 28E#1 | 16.000 45EE 00
[JLs27 | 28EM | 17.000 45E M H:15.800
[JL320 | o8E@i | 17.000 ¥ 45EE 0
[JLs31 [ 28EM | 17.000 000. £:14.700. H:18.000 45E N 000. :13,500. H:17.000
[JL333 | o8E@1 | 19.000 25,000, F:14.700 45EE 000, F:13,500._H:17.000
[JL335 | 28BN | 19.000 45E M 000. :13.500
W% | _JL300 | 28EAT | 16500 200 +:17.000. 6:14.200 45EE 14,900 B:12.
[JL302 | 28 BT | 17.000 100 45E M 14.900. B:12.700
[JL304 | 28E&1 | 17.000 1.14.100 45EE 14,900 B12.70¢
[JL306 | 28 BT | 18.300 >.19.400. 19200, 614300 458 AT 500, +:16,000. 12900
308 | 28FAT [ 17500 B:14.400 45 AT ; £:17.000. H:12.700
[JL310 [ 28 B | 15900 suo +:17.200. 8:14.900 458 AT >14.300. £:14.800
312 | 28HAT | 15900 | 0. B:14.900 25E8T 14,400, 14,900
[JL3i4 | 28 BT | 14.000 | 66% 5060 16900 458 AT > 6:14.900. 114800
[JL316 | 28E&T | 14000 | 66% 000, 15,100, F17.200 2588 16,000 £:13.800
318 | 288001 | 15900 | 61% 19.300_F:15.700 458 AT 500. +:13.800. B:17400
320 | 28FAT | 15900 | 61% |%:19900. £.15300. H:19.000 2588
[JL322 | 28EWT | 16,700 | 59% [%:21.100. £:15.300. H:19.000 458 AT 000. £:14.200. B:17.000
324 | 28FAT | 18000 | 56% |%:22.000. 15200 H:19.000 25B8T 1000, 14,200 H-16.300
[JL326 | 28 BT | 18.000 | 564 [ n 5:19.000 458 AT 000. £:14.200. 8 waaou
[JLozs [ o8B | 18.000 | 564 [ 5:19.000 45 AT
[JL330 | 28 BT | 17.200 | 58% [%:22.000 700 9000 458 AT 00017 700" 512300
332 | 28EAT | 14000 | 66% |%:19.500. £:13.000. H:17.000 2588 17,000, £:12.000. H:16.000
(PR =8M | KR () % | JL2050 | 28ET | 10700 | 57% 45K >
[JL2053 | 28 AT | 10.700 | 7% 45 AT b £.10.600
[JL2057 | 28ET | 13200 | 46% |&+H.12800 458 AT £5:12.100
[ JL2061 | 28 B | 12600 | 49% |&H:12.800. £12.300 45E AT -H:12.100. £:11500
WM@% | JL2050 | 266 W1 | 12200 | 50% |B:11.800 458 AT 3.11.200
[JL2056 | 28 VAT | 12300 | 50% [A:13.200. £H:12.800 45 AT 12,400 £ H:12.100
[JL2056 | 28 BT [ 11.700 458 AT
[JL2060 | 28 &t | 11.700 — 2588
W (RE)-AE | R (AE) % | J253 | 28EM | 12400 12800 45K 2300
[JL2s5 | 28 BV | 17.600 7,800 EF:13.800 45 AT 516,900 £ B
[JL2s57 | 28EM | 17.600 7.800. 1+ B:13.800 458 AT 16,900 £ 8 17400
[JL259 | 28 E&T | 16,500 £ H:13.800 25E8T 12800 _
[JL261 | 28 B | 12.900 4.300. £ H:13800 458 AT 500, £ 612600
[JL263 | 28E&T | 12,900 2588 500, £ H:12.800
[JL265 | 28 B | 15300 458 AT 100 £ H:12.800
267 | 28B1Ai | 15.800 6.700. £ H:13.800° 4S5BT 200, £ H:12.800
ERRE | _J252 | 288 | 13700 3,800, B:13.000 458 AT 800. H:12.500
[d254 | 28E#i | 15300 13.800 45E AT 12.800
[JL256 | 28 BT | 12.400 £ H:13.400 458 AT 500, £ 612600
[JL2ss | 28 B | 12400 B:13.400 45 AT 00,  B:12.800
[JL260 | 28 BT | 14.800 200.  B:13.800 458 AT 200. £ 5:12800
[JL262 | 28E&T | 14,800 > 16.200. & H13.800 2588 200, £ H:12.800
[JL264 | 28 BT | 16.400 400, + 513800 458 AT 700.  B:12.800
[JL266 | 28E&T | 16,900 2588 00 £0:12.800
TR (RE)=A5 | R (AE) 5| JL661 | 28EM | 16500 45E AT +:15.700. B:12.800
[JL663 | 28 E&T | 17,000 25E8T
[JL665 | 28B4 | 16.000 45E AT
[Je67 | 28E#i | 15500 25BH1
[JL669 | 28E1# | 15500 45E AT
671 | 28681 [ 16500 7. 45 AT 600, B1:14.900
R7% | JL662 | 28EA | 15300 uaoa.?twaaon 45E AT 12,600, % £:14.200
[JL664 | 28E#T | 16,000 | 60% | X H:15500. % 17.000 25E8T 200 £:14.500
[JL668 | 28EIMT | 15500 | 61% 16.000. 6:16.800 45E AT
[JL670 | 28 BT | 15500 | 6% 16,000 H:16.800 45 AT
[JL672 | 28EMT | 17500 | 564 18,000 £:16.800. H:18.400 45E AT
["JLe74 | o8BI | 14800 | 63% |&E 25BH1
TR (RE)-ReA | R (M) 5| JL623 | 28EIAT | 14600 | 64% [A%:16.100. 16600 45 E K1
[JL625 | 28E#T | 16,500 17,500, %:17.000. £:17.800, B14.800 25E8T
[JL627 | 28B4 | 16.500 +:17.800. H:16.300 45E AT
[JL620 | 28E&T | 17.300 J7K:16.500 25E AT
[JL63i | 28 B8 [ 17.000 6000, JeK:15,500 45E AT
[JL633 | 28E#T | 15,500 6.900. 16,300 25E8T 14.200. B:14.600
[JL637 | 28B4 | 16.300 6.800. H:17.500 45E AT 1%.14.700_£:14.200, B:15.100
639 | 28EIA [ 16.600 800, X:16.500. % H:17.800. £:16.300 45B1AT 4.500 4.800. #H:15.900. £:14.100
FeA% | JL622 | 28EA [ 17.000 17.500. :17.800. B:16.400 458 | 15200 5.800. +:15.900. H:14.100
[JL624 | 28E#T | 18,000 I 18.500. %17.700. B:17.100 2508 | 14 nuuﬁiw.zou
[JL626 | 28B4 | 16.800 45E AT Tk 14.20
[JL628 | 28E#T | 15,800 15300, %16.300 25E8T S E |47uu ;kmou F14200
[JL630 | 28E#T | 17.500 000. +:17.300. B:17.400 45E AT
[JL632 | 28E#T | 16.000 25E8T
[JL634 | 28 B8 [ 17.000 45E AT
[JL63s | 28BN [ 16.700 45Ew] 14
WECRE)-BM | 0% (398 % |_JL667 | 28E1A1 | 15500 SE A | 14
[JL689 | 28E&T | 15,500 2508 | 14
[JL691 | 28E# | 16.300 45EAT | 14
[JL693 | 28E#T | 16,800 2508 | 14
[JL695 | 28E#T | 16.800 45E AT 14
697 | 28 AT | 16300 =E] 45Ew ] 14 %:15.600. £:13.900, B:1
BH% | _JL688 | 28 BT | 15800 00 7500 500 45E AT S0 1500 1% 600, 000
[JL6o0 | 28 B | 15.700 716,500 £:16.800. H:15.800 45 AT 14,800, B1:13.700
[JL692 | 28E# | 15200 3:16.300 45E AT 13,7
[JL6oa | 28 B | 15300 16,500 £:15.800 45E AT B4
[JL696 | 28581 | 15500 500, 5:17.300 45581 | 14 13,700, H:15.300
["JL69s | 28BN | 15.300 45E R | 13900 14,500, F:13.200_ H:14800
641 | 28H A | 12500 45E 81 | 12,000 14,300 %:14.800_:15.300
643 | 2881 | 15000 45ERT | 14.800 %:15600. 16,400, H:13.700
645 | 28H A | 17000 45881 00 £:16,000, +:16,500, H:13.500
647 | 2881 | 14000 45E AT 000 313,700, %:14.900. F-13.500. B:14000
[JC649 | 28581 | 14,000 45E 81 | 13.400 313700, :14.100__F13.500, B:13.900
[JLe51 | 28E# | 13.000 45E AT 500 14700, %:14.000
[JL653 | 28E#1 | 13.000 N 45E 81 | 12,500 13,200, £14.800, B:15900
655 | 28 A1 | 13000 5000, 117,000, B:17.600 45E AT 500 13.200. 14,800, B:15.900
BERER 640 | 28H A | 12.100 5100 16600 [ asE@i| 11600 | 200, %14.200. £ 15500
642 | 28 A1 | 14000 16,800, F:17.500 45E AT 500 H:14.700_£:15.900
644 | 28H A | 13000 16.800_%:17.000 45E 81 | 12,500 14,800, +14.900. B:14.700
646 | 2881 | 13000 45E AT 500 13.200. % £:14.200. B:15.200
[JC648 | 28581 | 15000 45881 00 14,700 +:14.000. H:14.800
[JLe50 | 28 1T | 14.000 45E AT 500 15,000, :16.100, 14400 B:15.900
[JL652 | 28E#1 | 13,000 45681 | 12,500 16,100, +:13.700. B:14.800
654 | 28 A1 | 13000 45E AT 500 15,300, F:13.700. B:14.800
KR () i (F ) % | JL2163 | 28 A | 17,000 45881 00
i) 2164 | 28 BT | 17.300 £ F1.18.600 45E AT 00
KR (FA A | KR(F) 5 | L2201 | 28E81 | 16.800 K:15,800, 19,600, T 20,600 45881 00 700, msmo ﬁmon £20000
[JL2203 | 28 AT | 19.600 20 16.800 45E AT 600 £:20.100_H.1
[(JL2205 | 28E#1 | 17.400 | 50 |X:18.400, %.18.500, 20,600, H:16.800 45E 81 | 16,500 7,500, ﬁmouo 120100 B:16.700
[JL2207 [ 28 BT | 17.600 | a9t §:18.600 45E R 17.100 > £ H.18.100
["JL2200 | 28E#1 | 18400 | 47% |%:19.400, 19,000, H 21,200 45E 81 | 17,500 00, +:16.900. 5:20.300
2211 | 28BT | 19.900 1 %:21000. £:19.000. H:22.000 45ERT | 19.100 20,500, :16.900. H 21500
2213 | 28 EH1 | 19,100 1,000, +:19.000, H:22.000 45E 81 | 18,600 16,900, H:21.500
2215 | 28 BT | 19.100 200. +:18.800. H:21200 45ERT | 18600 17,500, B:20.300
A% | JL2200 | 28E AT | 18300 +:19.400 45E 81 | 17,600 £:18.800
[JL2202 | 28 BT | 19.700 600, %:20100. 120400 EI|9|UD 45E AT 00 19.100. F-19.300. B:18.100
[[JL2204 | 28581 | 18,600 700, % +:19.800_B:1 45881 19.100__+:19.300. 8:17.100
[JL2206 | 28 AT | 18.700 k% +:19.800_ H:19.100 45E AT £:19.300_ H:18.10
[[JL2208 | 28581 | 17,900 00 %20700. +:19.600. H:20500 45881 0019800, +:18.500, H:19.400
28 A1 | 17.900 4:19.000. % H:20700. +:19.600 45E AT K:18.000. % H:20200, F:18500
28 AT | 17.900 000, % H:20.700, F:19,600 45881 KA 18.000, & H:20.200, :18.500
288 | 16.800 400, £:17.700 45EVAT 16.100. #:19.900. +:16.900. H:19.700
ARG -Rl | AR(FA R 28 AT | 14.400 900, 15,700, B 45881 BA:13.100, £:15.100, H:12,600
2861 | 15800 400. :16.200. H:13.900 45E AT 15600, H:13.100
28 AT | 12.400 45EH1 13.300
28671 13900 45E AT
L] 2 [ 28E A | 13900 45EH1 14,800 F:14900
4 | 2861 |_12.400 45E AT 14.400
6 | 28 E A1 | 12400 45EH1 +:13.300, H:14.300
2378 | o8BI | 13.900 | 524 | kA 45E AT %:14.800. £:13.600. H:14.900
KR (G %) 3¢ | JL2383 | 28E AT | 12000 | 54% 500, 45EH1 A H:11.600, & £:12.000
[JL2385 | 28 BT | 12900 | 5% % +14.200_ H:12.400 45E AT Jc& £:13.700. B:11.700
[CJLossi | 28E @I | 12,900 | 5i% 3,100, £:14.800. H:12.400 —-
2389 | 98BI | 14.200 | 46% 2.900. % H:14.800, 111800 45EW | 12800 | 51% |AK11500, ZH:14300. £11600
[JL2asy [ o8 Edi | 14.700 | a44% k13,400, #:14.400, H:13.000 45EET | 12800 | 51% | XA:11,500, H:11.900
[JL3880 | 28 BT | 12400 | 53% [4:14.400. — ——
[(JL2386 | 28E A1 | 12400 | 53% | & H:14.500, +:15000 T5EE | 1 P 13,700, 114100
2392 | o8B | 13700 | 48% 415000, ﬁ\szou E 15.100 45EWT | 1 100, a&mmo EIMGOU
RIR (G ) 56 | JL2401 | 28E A1 | 12700 | 584 |&+:14300, H.1 45EET | 12,000
[JL2403 | 28T | 14300 | 50% 45E W | 13800
[CJLoa07 | 28E#I | 14.300 | 524 45EE1 | 13.800
[JL2409 | 28 BT | 13400 | 55% 45E W | 12600
[CJloati | o8E@i | 13400 | 55% 45EET | 12,600
2415 | 8B | 12600 | 58% 400 E:12.700, H:14.800 45E R | 11.900
2419 | 28 EEI | 13400 | 55% 900 +:13.800. 8:15.300 45EE1 | 12,600 00
ERER | JL2400 | 08B | 12100 | 60% 400, H:12.200 45E W[ 11.900 11500, £.12900. BLT1600
[CJL2402 | 28E @I | 12100 | 60% 000, 13,800, 12,500 45EE1 | 11.900 500, %:12.800. +:13.300, H:11800
[JL2404 [ 28 BT | 12100 | 60% 000, £:13.800. H:12.900 45E R | 11.900 500. %:12.800. :13.300. H:12.400
[JL2406 | 28E &I | 12100 | 60% 000, 13,800, H:12.900 45EE1 | 11.900 11,500, %:12.800, +:13.300, H:12.400
2410 | 28EMT | 13,000 | 57% | +:15300. B:14800 45E W | 12800 12.400.£:14.400. H:14.000
[CJLoats | 28E#1 | 13,900 | 54% |X:14,800. %:16.000, 13400, H:15.800 45E%1 | 13.100 000, %:15,000._F12.600. H:14.800
2414 | 28EIMT | 13.900 | 54% |%:14.800. %:16.000. £:13.400. H:15.800 45E W[ 13.100 15.000. 12,600, B:14.800
AWM GTTR) -BA LML/ 5 _JL2603 | 28EHAT | 11500 | 6% 12.800 45EE1 | 8.600
[JL2805 | 28T | 11.500 | 50% 45E W] 8600
[JL2800 [ 28E &I | 11.500 | 524 |&H12000 45EET | 8.600 $H9.100
EHR | JL2804 | 286 W1 | 11500 | 524 [%F:12800 45E W] 8600 $1.9.700
["JL2806 | 28E @I | 11.500 | 524 45EET | 8.600
2810 [ o8B | 11.500 | 52% 45E W] 8600
AU B TR RS JRLUR (37T M) 5] JL2821 | 28HAT | 13400 | 5% [&:14.700 45EE1 | 10,000 F11.100
2827 | o8B | 13400 | 524 [F:14.700 45E W 10000 H:11.100
K% | JL2822 | 28EA1 | 13400 | 6% |+ 14.700 45E 81 | 10,000 % [ F11.100
2828 | 28 BT | 13400 | 52% 45EM | 10000 | 64% [+:11.100
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[R——%G1EEXRAR1~IBEES)

EEBEAB 2018/01/25 ~
™ 4/1-9
=F B | WAM - AR
| ERE | no2 E
R CRE)=18R RRCRE) % .000 1.000, H:10.500
500 2,000, H:11,000
500 | 72% | A% +:13500. H:11.600
500 | 70% | A% +:15500. H:11.600
500 | 62% |H:11.600
500 | 72% | A% +:12.500. H:11.600
500 | 72% | A% +:12.500. H:12.000
400 | 72% 1300, % +:12.500, H:12.000
000 | 73% 500, H:11.800
.000 3% 800
9800 | 76% 300
11.000 3% 500, H:13.300
9700 | 76%
.000
.000
000 | 7
500 | 7
[EEES 500 7 E
000 | 7 E
000 | 7
000 | 68%
9.700 76
000 | 7 E:
000 | 7 £:11.500, H:11.800
000 | 7 800
000 | 7 800
000 | 7 500, H:14.300
500 | 7 500, H:14.300
500 | 7 500, H:14.300
9.700 7
9.700 7
500 | 7 113,500, H:14.800
500 | 7 113,500, H:14.800
000 | 7 111500, H:13.300
FRCRE) =4 (BH) | RRCHE) R |_J .700
700 1
7.700 1
7.700 1%
7500 | 62% X
7500 | 62% |%:18.600, H:16.100
4200 | 69% |+:14.700. H:15.300
3700 | 70% [H:15.100
9.700 79%
8.700 81%
13700 | 70% |+:14.700. H:15.100
13700 | 70% [£:19.700. £:14.700. H:15.100
ik R R |_J 8.700 81%
8.700 81%
9.700 79%
0700 | 77%
3700 | 70% 15.100
7.000 6.800. H:17.600
7.000 :17.600
7.000 :17.600
7.900 7.000. H:18.800
7.900 7.000. H:18.800
7600 | 62 6.400. H:18.600
9.700 9% 2.700
KB (BAEE) =4LIR (3 F k)| KBk (BE) % | J 1'2.90000 7 £:14.900. H:10.500
.7
700
FLIR (BT %) 5 .700
700
12.400 111200, £:10.500. H:11.900
KR () =18 KR (75 % 8.800 6. :9.500, +:9.400
8.800 6 :9.500. £:9.400
10700 | 5 £ 5:10.400
10.200 | 50% 10400, £:9.900
[ 9.800 60% 00. H:9.600
10700 |57 0.200. £ H:10.400
9.700 1
9.700 1
KR (B =038 (BT) | ABR () % |_JL. 17.500 4% _[%:18.200. £:19.200. H:15.400
L 8,700 7% | H:9.600
() FE | _JL 9,600 75%
17.600 5. #:16,500, F:15,800, H:18,200
HRCRE) =t RECRE)# 9,400 7
13,100 6: s 1:14,400, H:12,000
9,400 7
9,500 7 %1 H:10400
12,300 6 & H:13,400, £:11,400
13,700 6: & H:14,800, £:12,200
PIES 9,400 7
9,500 7
9,400 7
400 |71
400 | 65% 100, 100
400 | 65% 1100, H:13,100
RRE(CRE)=K5 ERCPE)S | J .900 70% .300
500 | 66% 300, H:12,600
100 | 67% 14,300, H:12,600
200 | 69% 400
,900 | 68% 100, H:14,500
000 | 67% ¥
ES ,000 70% 800, 1:13,300
100 | 70% 800, £:13,300
900 | 68%
500 | 69% |%:12,900, H:13,000
,900 | 65% 100, % H:14,600, £:13.000
,000 | 70% |£:13,900. H:14.600
R CRR) =Ki& ERCPE)S | J ,900 70% [+:13300, B:12.300
,900 | 68% |4 700, H:12,200
400 | 72% | KA :13,100, H:12.800
400 | 72% | KA :13.100, H:12.800
,900 | 70% 12,
,900 | 70%
R ,900 70%
,900 | 70%
200 | 72%
100 | 68%
100 | 68%
,900 | 70%
HE (FE)=REAR HRCAE)FE | J 000 71%
900 | 69%
9,700 76%
000 | 68%
900 | 69%
,900 | 69%
500 | 70%
000 | 68%
233 900 | 69%
000 | 66% N 300, X
300 | 68% 2,800, X:12.200. +:13,800, H:12,000
9,700 76%
200 | 70% |R 13,300, 12,600
900 | 69% |A 100, 6
100 | 68% |4
100 | 71% [k
RR(RE)=51& ERCRE)FE | J ,200 70% |2
200 | 70%
200 | 70% 13,100, 13,600
200 | 70% 3,300, +:12,700. H:14.000
200 | 70% 3700, H:14,000
400 | 70% £ H:14.500
S 200 | 70% %:13,000, £:14.500
200 | 70% £12, 800
200 | 70% | H:12.400
200 | 70% | H%:12.400. H:14,000
200 | 70% |%:13,100. H:14.000
000 | 71% |%:12,800. H:13.300

JAL
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[R——%G1EEXRAR1~IBEES)

4/1-9
FH )
=4 B | AN ——— =%l
BB ERE FHES &
R (PE)=ER R CRE) % 11.000 75% | +:13.000
11.000 | 75% [+:13.000
11.000 | 75% [KA:12.200. %:13.300. £:14.300
9700 78%
000 | 75%
000 | 75% |H:12.200. H:13.800
1000 | 75% |J:12.000. B
000 | 75% [ X%:12.200,
ERBR .800 75% | X &-12.200.
.000 3.300
.000 3.300
.000 :13.800
200 | 72% | k% +:10800. H:14.300
.000 :12.400, KA:12.200. H:14.500
9.700
.000 3.800. H:13.500
KR () =F & KBR (R FH) 5 .300 3.600. H:12.800
300 13.600
300 500
HHER .800 100,
800 1900 1
300 900
KR (FH==R K (FFD % 100 15.400
=iR% 600 :13.700, £:15.400. B:15.900
KR () =1LE KB (FH % | J 7.400
400 | 58% |X:14.900. ££:15.700, H:13.100
300 | 62% |£+:14.700. H:13.100
000 | 60%
800 | 60% |%:14.600. £:1
400 | 55% |%:16.800, :1
400 | 55% |%:17.300, £:1
uas 400 | 58% |%:14.800. £:1
400 | 58% |%:14.800. £:1
400 | 58% |%:14.800. :1
800 | 57% |&+:15400.
800 | 60% |2:16.000. .
7.400 79% 10.300
7.400 79%
KR (R =R ENACHES 900 | 59% |2:12.400. £:13.900, B:11.400
400 | 57% |2:13.300. £:14.400, B:11.900
400 | 60% |:10.600
900 | 59% |2:12.900. H:14.100
RIS 900 | 59% |%&+:12.400
7 400 | 60% [k
JL2376 | 55 400 | 60% |A: 2800
JL2378 | 55 900 | 59% |k 3:13.300, £:12.300
KR (BFFH=ERS KB (FH % | J 55 -100 3% |4 00
J 55 900 E;
J 55 .900 E:
L 55 .900 4
JL: 55 .900 4
JL: 55 .000 3
JL! 55 700 1
ERE% [ 55 .900
[ 55 .900
J 55 .000
[ 55 .000
JL! 55 500 2
J 55 1200 | 59%
J 55 200 | 59%
(B 2 () = AL W (37 T | & o 2 () 3 55 400 66%
[ 55 7.400 82%
J 55 7.400 82
J 55 7.400 82 7.800
J 55 7.400 82 7.800
EXAETESF: I 55 7.400 82 7.800
[ 55 7.400 82 7.800
J 55 7.400 82%
J 55 13.400 | 68% |:13.600. H:13.900
J 55 13.400 | 68% |EH:13.900
HIRETFR)=HHK [HIREFFR) I 55 .700 7
[ J 55 700 7
JL 55 .700 7 H:7.200
'HER L 55 ,700 7.
[ J 55 700 7
L 55 700 7
IR BT FR)=FE  [FLIR (B Fmk) g _JL 55 800 7
55 7,800 7
HER 55 7,800 7.
55 7,800 7

JAL



EE#EMAA : 2018/01/25 ~

TR—N\—%FGIHEER(AA10~26BEFEN)

=
=40] Ea | BAH
BB ERE &
FRCRR) = (RH) | RR(CHE) R 6.700 7.600,
7.700 800,
7.700 800,
7.700 800,
7.500 600,
7.500 600, H:16.
4.200 4700, H:15.300
3700 | 70% |H:15.100
9.700 79%
8.700 81%
13700 | 70% [+:14.700. H:15.100
13700 | 70% [£:19.700. £:14.700. H:15.100
RO R |_J .700
700
700
.700
3.700 15.100
7.000 6.800. H:17.600
7.000 :17.600
7.000 :17.600
7.900 7.000. H:18.800
7.900 7.000. H:18.800
7.600 6.400. H:18.600
9.700 79% | H:13.700
KB (BAEE) =#L1R (3 Fik)| KBk () % | J 12.900 72% | +:14.900. H:10.500
.200 80% 10.800
.200 80% 10.500
FLIR (T %) 59 .200 80%
.200 80%
12400 | 73% [%:11.200. £:10500. H:11.900
KR (751 =48R KR (5 % .800 64% |£:9.500, £:9.400
800 64% | 2:0.500, £:9.400
800 60%
10200 | 59% |[#H:10.400. £:9.900
(S 800 60% _|7k:9.300, H:9.600
10700 | 57% [/K:8.000, £ H:10.400
700 61%
700 61%
RE(PE)=X5H R (PE) %[ J 500 | 66% |2:14.000. E:14.100, 500
500 | 66% |2:14.000. E.
400 | 66% |2
700 | 68%
000 | 67% &
000 | 67% |&:
K5 500 | 69% |A:
500 | 69% |A:
000 | 67%
700 | 68%
100 | 65%
500 | 69%
RR(CRE) =R ERCRE)F | J .500 70%
400 | 67%
700 | 67%
000 | 68% |A:
000 | 68% |H:13. . :14.800, H:13.400
900 | 69% |%+:13000. H:14.100
500 | 70% [A: 4,100, H:14.600
000 | 68% |A: 12,700, H:15.300
AR 400 | 67% [ 00
800 | 64% |k
100 | 66% |A:
000 | 68% |A: 00
800 | 64% |/ .200
400 | 67% |A:
100 | 68% |2
900 | 69% [k
RR(CRE)=21 ERCRE)S | J .700 69% |2
700 | 69%
600 | 67% _A:13.000. £:13.900. £:14.100
000 | 68% 114.100. H:14.800
000 | 68% 114,300, B:14.800
200 | 68%
EEES 200 | 68% 00, £:15.300. H:12.700
700 | 69% +13.400
700 | 69% . H:13.200
700 | 69% . B:14,800
700 | 69% 4,800
500 | 70% 4,100
KR (FFH)=H&F KB (75 % ,300 70% 2,800
300 | 70%
300 | 70% 500, H:13,600
BHR 800 | 71% 100, ,300
800 | 69% .900, £:13,600, H:14,100
300 | 70% ,900, H:13,600
KR (FFH==R PNTAGISES ,100 67% 15,400
=IR%E 600 | 66% 700, £:15.400, H:15,900
IR () =R KR (FF) % 900 | 59% 2,400, £:13,900, H:11,400
400 | 57% 300, £:14,400, H:11,900
9,300 68%
11,900 59% [£:12.900, H:14.100
R 11,900 59% [&+:12,400
9,300 68%
11,400 | 60% |A:10,600. H:12.800
11,900 59% [7K:12,800, £ H:13,300, £:12.300
KR (BFH=ERS KB (75 % 9,300 69% ,800
12,900 | 57% 100, £:13.400, H:11,600
12,900 | 57% 100, £:13.400, H:11,600
9,300 69% 1400
9,300 69% 700
11,000 | 63% .700. H:12,700
11,700 | 61% ,900, £:11,300, H:13,100
ERBR 9,300 69% 800
10,900 | 64% 0,600, £:11.400
9,300 69% 00
9,300 69%
1500 | 62% 000, A:11.100. .
2,200 | 50% 13,700,
2,200 | 50% 13,700,
EEE(PED AR BT R BB E (a5 2400 1ot 17
100
100
100
FLIR GG %) 4 100
100
13.400 8%
13.400 | 68% 3,600, H:13.900
13400 | 68% :13.900
WIRGEFTFR)-BR |[fREF TR H .700 7
.700 7
700 7 H:7.200
BEHR 700 7
[ .700 7
L .700 7
ARGTFR)=TE  |LIREFR) L .800 7
7.800 7
HER 7.800 7
7.800 7

JAL
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EEBEAB 2018/01/25 ~
5/7-17
AR
=40]
= BEW
B | gz
R CRE)=18R RRCRE) % .500 74% :12.300. &:
000 | 73% |H:12.300. &:
500 | 62% |&+£:16.500,
700 | 59% 17700,
700 | 59% |&+:17.700
700 | 62% | A:15.800.
800 | 66%
400 | 72%
300 | 68%
300 | 73%
700 | 69%
500 | 67%
.800 | 66%
800 | 64%
800 | 64%
800 | 59%
800 | 59%
[EEES .000 66%
000 | 66%
000 | 66%
800 | 62% |H:17. 300, £
100 | 6 :17.800, £ 115,800 00
000 | 7 +19.800, £:13.200. £:13.700. H:12.500
000 | 7 3300, £:13.800. H:12.500
300 | 7
300 | 7
500 | 70%
900 | 69%
100 | 66%
800 | 64%
800 | 64%
800 | 64%
300 | 65%
300 |73
FRCRE) =4 (BH) | RRCHE) R |_J 6.700 4
7.700 1
7.700 1
7.700 1
7500 | 62%
7500 | 62%
4.200 | 69%
3700 | 70%
9.700 79%
8.700 81%
13700 | 70% |+:14.700. H:15.100
13700 | 70% [£:20.200. £:14.700. H:15.100
ik R R |_J 8.700 81%
8.700 81%
9.700 79%
0700 | 77%
3700 | 70% 15.100
7.000 6.800. H:17.600
7.000 :17.600
7.000 :17.600
7.900 7K:17.700. £:17.000. H:18.800
7.900 7K:17.700. %:17.000. B:18.800
7600 | 62% [JK:17.500. £:16.400. H:18.600
9.700 9% 3.700
KB (BAEE) =4LIR (3 F k)| KBk (BE) % | J 12.900 72% |#1:14.900, B:10.500
9.200 80% 800
9.200 80% 800
FLIR (BT %) 5 76% |+ .500
79%
73% [ %:11.200. £:10.500. H:11.900
KR () =18 KR (75 % 64% :9.500. £:9.400
64% | 2:9.500. £:9.400
59% 10400, £:9.900
[ 60% 300, H:9.600
61%
61%
RA CHE) =W R (AE) 5 69% [£:10.700. £ H:11.100
71%
71%
68%
61% [£:11.000. H:11.100
IS 71% |£:10,300
65% |£:10400, £:11,100, H:9.900
7
64% [%:12.500, £H:11,100
62% |%:13400, £H:11,100
RR(AB)=E8 ERCPE)S | J 7
6 A:14300. £H
60% [ A:14,300, £
61% [£H:11400 _
68% .300, £ H:11,400
68% .300, 1 H:11,400
64% 11,300, H:11.400
62% 400
RB% 68% |t
64% |+ H:11.400
71% £ 5:10,900
71% £ 5:10,900
65% 900,
65% 900,
.900, 1
300, 3
RR(ABR)=-#8 ERCPE)S | J 900
,900
0,000
0,000
900
10,400, +:9,900
10,400, £:9.
[EEES ,400, H:9,900
,000
,000
:10,000
:10,000
.900
70% .900
RECRR) =B RRECRE)# 69% 1,800, 1 H:9.900
58% 4,200, 1:14.200, H:11,800
70% 10,800
69% :10,800
69% :10,800
60% [£:13,700, £:10,100. H:13,700
57% :14,700, £:11,100, B:
B 67% :12,200, 1 H:9.900
64% | +:12,400, H:10,200
10,900
10900
1700, £ H:10,900
000,
100, .200,
RECABR) =B RRECRE)# .400, +:11,900.
400, F:12.900
600
400, 500,
100, £:10,500,
SRS .900
£:10,900
72% |£:10,600, £ H:11,400
66% |£:13.400, £:11,600, B:13,200
62% |£:14,700, £:10,500. H:14.600

JAL
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FH e
XA B5 | EAH BER
| ERE | 500 E
R (HE)=Hl R (PE) % 9,900 72% |2:11.700. £:12.100, H:10.700
13500 | 62% |£:15.000. £:14.400. H:12.000
12.000 | 66% [+
9.900 72% &
000 | 64% |&: 000
300 | 60% |&:
EATIE S .100
100
500
.000
100
100
HER(CRE)=X% HRPE)R [ J .500
500
400
700
000
000
K% .500
500
.000 :
700 | 68% |A:
100 | 65% |A:
500 | 69% [A:
FRCRE) =R R (PE)F [ JL605 | .200 70% |t
000 | 68% |k
200 | 70% |k
200 | 70%
700 | 71% |A:
700 | 71% |A:
R 000 | 70% |A:
100 | 70% [A:
700 | 71% |A:
400 | 67% |A:
400 | 67% |A:
400 | 69% [A:
FR(CRE) =R RRPE)F [ J .500 70%
300 | 68% [&: :
300 | 68% A% :12.500
700 | 69% [A: :14.800. H:14.400
700 | 69% |A:
700 | 69% |A:
500 | 70% |A: 00, F:14.
000 | 68% [A: 4,600, £:12.700, H:15.300
=33 .300 68% | A: 00
100 | 66% |A:
100 | 66% [H:
000 | 68% |H:
000 | 68% |A:
400 | 67% |A:
700 | 69% |A:
900 | 69% [k
RR(CRE)=215 ERCPE)F | J .700 69%
700 | 69%
600 | 67% K:13.000. £:13.900, £:14.100
000 | 68% 4.100. H:14.800
000 | 68% 12.700. £:14.300. H:14.800
200 | 68%
B3 000 | 68%
700 | 69%
700 | 69%
700 | 69%
700 | 69%
500 | 70%
ERCPAE)-ERS RERCRE) % .300 7
300 | 7
300 | 7
300 | 7
300 | 7
300 | 7 14,61
300 | 7 N=H]
300 | 7
BERER 100 | 75% |A: 000 £:14.600
100 | _75% |H:13,000, E:14,100
300 | 7 F:16,100, £:14,100
300 | 7 F:15,600, H:14,600
300 | 7 H:15,600, 7KA:13,000. H:15.100
300 | 7 H:15,600, 7KA:13,000, H:15.300
300 | 7 A:
300 | 7 B
KR (57 =H&F KB (75 % ,300
,300
,300
BEHR .800
,800
,300 :
KR (FFH==R PNTAGISES ,100 15,400
=R 600 3,700, £:15,400. H:15,900
KR (75 =T E KR (£751) % K ;0000 :14,200, £ H:12,200
12,900 65% [£:14,400, + H:12,200
HER 12,900 | 65% [A:13.700, %:13,600, £ H:12.200
9,300 75%
100 | 65%
KR (FFH=(L& KB (75 % 100 62%
400 | 58%
,300 | 62%
9,300 73%
800 | 60% [&
900 | 54% [&
400 | 55%
400 | 55%
wes ,400 58%
400 | 58%
9,300 73%
9,300 73%
800 | 60% |&: 4,300, H:15.600
800 | 60% | H:16.200, £:14,800
100 | 62% | H:16.200, £:14,800
L 100 | 62% |A: 116,200, £:12,700, H:15.900
KR (FFH =518 PNACESEIN 9,300 7%
11,400 | 65% [A:13.100. & £:12,.800. H:12.300
9,300 71%
13,000 | 60% |£:14.400. £:11.700. H:14,000
R 13,400 59% |H:12.400
12,000 6. £:13,400, B:12,700
9,300 7
9,300 7
KR (BEF=K5 PNACE ] 000 | 4 112,400, £:13.600, H:11,000
.000 | 49%
700 | 46% 300
K% 000 | _49% 200
,000 | 44% 300
,000 | 40% ,300
KR (7 =R KR () % .900 59% 400
400 | 57% ,900
9,300 68%
.900 | 59% [£:12.900, H:14.100
RIGR ,900 59% [£+:12.400
400 | 60% |A:10.600
400 | 60% |A:10,600. H:12.800
.900 59% [7K:12,800, £ H:13,300, £:12.300
KR (7 =RER KB (577 % .900 59% [AIKA:10,700
200 | 54% |%@+:12.700. H:11.100
.900 | 59% 11,700
A% .900 | 59% 1.700
100 | 58% 1,800, £:12.200, H:12,700
200 | 54% 4,000, H:13,600
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5/7-17
F# AR
=40] Ea | BAH — EEW
BR B FHES W&
KR () =28 KR (5 % 12.300 53% | A:11.500
13.400 | 49% [%1:15.000
9300 65%
900 | 51% |2:14.100. H:14.900
400 | 53% |2:14.100. H:14.900
ECERE 400 | 53% 12,900, :14.400
400 | 53% |%&+:12.900. H:13.000
9300 65%
13.300 | 49% [£:14.400. £:13800. H:14.700
9300
KR (RFH=FER. KR (75 % 9.300 .700
12.900 400, K:12.100, £:13.400, H:11.600
12.900 100, £:13.400. H:11.600
9300 1400
10.900 700
.000 .700. H:12.700
1700 900, £:11.300, H:13.100
ERBR .300 .900
10.900 600 £:11.400
300 .
300 300
500 | 62% [7K:11.000. A:11.100.
1200 | 59% |H:12.700. £:13.700, £:11.700. B:13.
200 | 59% | H:12.700. £:13.700, £:11.700. H:13.500
B (R ) =ALIR (37 T ) & o 2 (P ) 3 _J 800 62% £:18.100. H:15.200
100 :9.700. £:9.500
100 700, £:9.500
100 700, £:9.500
LR (BT F %) 54 00 [ ¢ 700, £:9.500
400 | 68% 3.900
400 | 68% 3.900
400 | 68% +13.900
IR TR =% [FLIR FTFR) 300 57% .900
.200 62% 9.300
.200 62% [ H:9.700
ES TS 700 60% H.9.200
200 62% 300
10300 |57 0.800. £ H:9.900
RFTFR)=-FH [FREFTRH Y .;gg ;
700 7 H:7.200
HHER .700 7.
700 7
.700 7
IR ETFR)=FE  [FLIR G Fa) F_JL .800 7
JL 7.800 7
BEE [ 7.800 72
JL 7.800 72%
IR BT =318 o N 14.900 55% |£:15.500. £ H
JL 14200 | 57% [£:13.600.
LR (BT F %) 5 9.300 12%
JL 13500 | 50%
fRE=-= mExE | L 400 76%
[y 600 70%
[ 400 76%
J 400 76%
J 400 76%
J 900 73%
J 400 76%
ECER 400 76%
[y 900 73%
[y 900 73%
J 400 76%
J 400 76%
J 400 76%
J 400 76%
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5/18-31
A—N—%F
=40]
wam | 200 [
FRCRR) = (RH) | RR(CHE) R 6.700 4
7.700 1
7.700 1
7.700 1
7.500
7.500
4.200 4700, E15,300
3.700 4.700
9.700
8.700
13700 | 70% |+:14.700. H:15.100
13700 | 70% |£:20.200, £:14.700. H:15.100
RO R |_J .700
700
700
.700
3.700 15.100
7.000 6.800. H:17.600
7.000 :17.600
7.000 :17.600
7900 | 61% [K:17.700. £:17.000. H:18.800
7900 | 61% [K:17.700, £:17.000. H:18.800
7600 | 62% [JK:17.500, £:16.400. H:18.600
9.700 79% | H:13.700
KB (BAEE) =#L1R (3 Fik)| KBk () % | J 12.900 72% | +:14.900. H:10.500
9.200 80% 10.800
9.200 80% 10.800
IR (3 FR%) A 11,200 | 76% [+£:12.800. H:12.500
9,600 79%
12400 | 73% [%:11.200. £:10500. H:11.900
KR (F}) =18 KBR (R FH) 5 800 64% 19,500, +:9.400
800 64% 500, +:9.400
10200 | 59% 10400, £:9.900
(S 800 60% 300, H:9.600
.700 61%
700 61%
KIR (B =048 (GBE) | KBk (FFD % 17500 | 54% |[A:18.100. %:18.200. £:19.200, H:15.400
13.400 | 65% |A:14.000. %:16.500. £:17.100, H:13.800
8.700 77%
PR (RER) 5 | _JL2084 | 8.700 77% :9.700
2300 | 68% 400, A
7600 | 54% 500, £
FRCRE)=K5 RRPE)F [ J .500 66% 000, £
500 | 66%
400 | 66%
700 | 68%
000 | 67%
000 | 67%
K55 500 | 69%
500 | 69%
000 | 67%
700 | 68%
100 | 65%
500 | 69%
RR(CRR)=RIK RRE(CPHE)F [_JL605 | .200 70%
000 | 68%
1200 | 70% 14,100, £:13.900, B:13.600
200 | 70% 14100, %:13.900. H:13.600
700 | 71%
700 | 71%
RIER 000 | 70%
100 | 70%
700 | 71%
900 | 66%
900 | 66%
400 | 69%
R (PA)=f ERCRE)S | J .500 70%
300 | 68%
300 | 68% 12,
700 | 69% | H:13. :14.800, H:14.400
700 | 69% |H:13. 800, H:13.400
700 | 69% |2t
500 | 70% [A: 100 H:14.600
000 | 68% |A: 4,600, £:12,700. H:15.300
AR ,300 68%
800 | 64% [
100 | 66% |A
000 | 68% |A 14,100, H:14,600
800 | 64% kA 114,100, £:13,200
400 | 67% |B 700, H:15.300
700 | 69% |A 5,300
900 | 69% |k
RE(CRR)=515 ERCPE)S | J ,700 69% |2
700 | 69% |4
600 | 67% | K:13,000, 13,900, £:14.100
000 | 68% 114,100, H:14,800
,000 68% 12,700, £:14,300, H:14,800
200 | 68% 15300
S 200 | 68% 3,800, £:15,300, H:12.700
700 | 69% :13.400
700 | 69% . 8:13,200
700 | 69% . B:14,800
700 | 69% +14.800
500 | 70% +14,100
KR (FFH==R Xlﬁ(@ﬂ)’% ,100 67%
600 | 66% £:15,400. B:15.900
ENACEE ] xﬂi(@ﬂ)% 1900 | 59% _1390 B
400 | 57% 114,400, B:11,900
400 | 60% :12,300
900 | 59% 514,100
R .900 59% 400, 13,300
400 | 60% 600
400 | 60% 600, H:12,800
900 | 59% H:13.300. i 12,300
KR (BFFH=-ERS KR () % .100 3 : 0,
,900 7
,900 7
,900 4
,900 4
.000 3
.700 1
ERER .900
,900
,000
,000
.500 2
700 | 58%
700 | 58%
B (R Em) = AL WL (3 T | & & 2 (P ) 34 .100 62% 800, B 15,200
400 | 68%
8,100 81% 700, £:9,500
8,100 81% 700, £:9,500
FLAR (B TF %) $_JLS 8,100 81% 700, +:9,500
L 13.400 | 68% 3,900
13.400 | 68% 3,900
13400 | 68% :13,900
MEFTFR)=-EHF [IRFFRH .700 7 .900
700 7
700 7 H:7.200
BH% .700 7 £:7.900
700 7
700 7
HWIRGTFR)-ME  |fLIREF TR H .800 7
7.800 72% | H:9.300
PGS 7.800 72%
7.800 7
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BFEﬁ A= \—5%8 | A==k | R——%H | R—1—%i8 | R—1—%B | 2—1 -k | R——%H
WA | SR | EMME | ENE | EWA | ERE | ERE
RR(PE)EE | RRCPE R [
BER [
T CRE) = Al ) | B (R % |
AT 5 |_J
AEFA-BE | AR (AR
TR
ENACI T e N PX AT I
T G 5 |
TRCRE)-IL | R CAE R
RLR
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AR
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(3
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B
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) 3/25 3/26 3/21 3/28 3/29 3/30 3/31
=R B4 E%)\M A==t | A=\t | R—rS—5 | A== | A= Rt | R—\—sfl | R/~

R ERE

13.400
14.900
14.700
9.700
4.700
5.200
7.300
7.300
.000
100
.200
.800
.100
.300
9.700
.300
.300
.700
.700
.800
.200
.700
500
.000
7.400
1.300
1.300
.000
.900
.900
.900
.600
.600
.600
.200
.000
.300
7.400
.200
700
100
.800
700
7 .200
L2371 55 .600
237 55 .100
L: 55 .200
L: 55 900
L: 55 900
55 .800
55 .200
55 .200
55 .200
55 .800
55 .800
55 700
406 | 55 700
55 .200
55 .100
55 .100
103 | 55 500
55 4.800
55 7.400
55 .300
55 .800
55 .500
55 .800
55 7.400
55 20.700
55 14.800
7.400
7.400
7.900
7.400
I 7,400
L: 7.400
TR TR R R BT B 3L 00
.5
HER 500
,500

BE-FB BEE L3525 | 55 21,600
HBR L3524 | 55 21,500 21,500 21,500 21,500 21,500 19,300 19,300

R (PE)=ER R CRE) #

KR () =F & KR (£751) %

KR (FFH)==IR KB (FF) £
=R

=iR%
KR (FD) =& ENACEE N

KR (75 =R KR (£751) %

R

KR(PF=ERE | XiR(BHE

ERBR

65 (R ED) =ALIR (B T | 2 () 34

FLIR B %) 5

WIRGFTFR)=HR |[fLREFTR)H
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[R—N—%BIEERGAI~6BERED)

EEEMA - 2018/01/25 ~

™ 5/1 5/4 5/5
KR g | mAL PoiAE peerTy )
EEE BE | EEA
R (FIH) =48R/ BE(CHH) % S5HEAT] 1 - 0.900_| 2.700_|
S5EAT| 1 | 1 400 200
S5EAT| 1 | 1 700 300
S5EAT| 1 | 1 800 300
L. S5E AT | | 1 800 300
L. S5E AT | | 1 800 200
L. S5E AT | | 1 700 200
L 55H [ 1 800 200
L. S5E AT | | 1 800 800
S5EAT| 1 | 100 200
S5EAT| 1 | - 100 200
S5EAT| 1 | - 100 200
S5EAT| 1 | - 400 200
55H [ 1 400 800
55H [ 1 400 800
55H [ 1 400 800
555 400 800
EER 1100 | 16.300
800 300
800 300
100 400
000 100
L: 200 500
L: 200 500
L: 200 300
L: 000 300
[JL 000 800
[—Jr320 200 800
[ Ji322 200 300
[ Ji324 200 300
[—JL326 200 300
[Jr328 200 300
L330 200 300
[Jr332 700 300
R CRE)=48 (BH) | ERCRE)$ [ JL01 200 700
[JL903 000 700
[JL905 000 700
[—Jre07 000 700
[ JLoog 700 | 15100 | 1
L 400 300 300
L 500 500 500
L 000 000 000
L 000 000 000
Loz 000 600
[Jro23 200
[ JL925 100
A8 (&) 5 [_JLI00 000
[—Jre02 00
[JLo04
[—Jro06
[—JLo08
L 100
[JL920 900 700
[ JL922 100 200
FR (FIE)=fE W R CFE) % 000 | 11.900
L2 000 | 11.900
L2 900 100
L2 500 200
L2 900 200
[EITED L2 200 400
L2 200 600
L2 200
L2 900 =
[ J 900 =
HRCHE)=ES R CRIE) 5 [_JL253 800 400
[JL255 800 400
L2567 800 400
[JL259 800 400
[ JL261 900 900
U263 100 900
[ JL265 900 600
1267 900 000
RB% | J250 400 600
254 400 000
[—JL256 400 300
[JL258 400 000
[JL260 400 000
262 900 500
264 00 000
[ JL266 00 000
HR(HE) =K BR(CHA) % [_JL66T 00 400
[ JL663 5300 | 15500 ]
[ JL665 5300 | 14900
[ JL667 1900 | 15500 |
[ JL669 900 | 15500
671 00 700
XH%E | JLe62 600 600
664 00 600
668 00 900
670 100 900
672 00 400
[ JL674 00 900
HR(HE)=RS BR(HA) % |_JL605 00 400
[—JL607 00 500
[ JL609 00 600
611 00 600
613 00 500
615 00 300
R% | JL606 00 100
[—JL608 00 100
610 00 400
612 200 900
614 00 400
[ JL616 00 600
RR(AE FOR CHE) % |_JL623 600 | 13500
[ JL625 700 000
627 700 600
[ JL629 00 700
631 500
633 500
1637 300
1639 800
A% | JL622
[JL624
[ JL626
[JL628
[JL630
[JL632
[JL634
[ JL638
HR(HE) =55 FR(FE) $E | JL68T
[JL689
691 600
[JL693 500
[ JL695 300
L697 500
B | JL688 100
[JL690 600
[JL692 900
[JL694 900
[ JL696 500
98 000
B B (P D) =ALIR (91 T 3| & & 2 (P ) L ggg
L: 6.500
L: 6.400
L: 400
FLOR (BT F %) L 200
L: 600
L: 800
L: 900
M EFFR)=LE EE% L3403
+L80 (35 F 88 #|_JL3406




EROA1~THESRESD)

R—IR—%RBIE
BEEAR 2018/01/25 ~
/17
FH 2L
=0 @& | A — LSS ]
i3 BAR | mEi %
RR(FB) =9 (8 | RRCAB) % .700 64%
100 | 58%
100 | 58%
100 | 58%
400 | 60%
600 | 62%
4200 | 69%
3700 | 70%
9.700 79%
8700 81%
13700 | 70%
B 700 | 70%
S GIRER) R B 700 81%
B 700 81%
B 700 79%
700 | 77%
3700 | 70%
7000 | 63%
7.000 | 63%
7000 | 63%
9100 | 58% 17.000. H:18.800
9.100 | 58% +:17.000. F:18.800
7.600 62%
[ 9700 79% 700
KR (BS78) =ALIR (37 F )| KR (BIFE) % 12.900 72% .900, H:10500
9.200 80% 800
9200 80% 800
EXE = I 13300 | 71% 900
9,600 79%
12.400 | 73% 00. £:10500. H:11.900
AR () =18 R (FFH R 8.800 64% 500. 1:9.400
8.800 64% |£:9.500. £:9.400
10700 | 57%
10200 | 59%
[EEES 9.800 60%
10700 | 57%
9700 61%
9700 61%
R (AE) =K% R (HE) % 500 | 66% 4 4100, H:12.500
00, H:12.700
0. £:15.100. H:12.700
A%
RECHE)=iEA REEE) [ J
AR
RRECHE) =B RE(EE) [
LTS
AR () =EfE ENTHEIS0EY
TERSE
KB (D =#& KB (FFH %
AR
KR (=R Kl (2P %
=iRE
RBR (FFD =& KB (FFH %
00, +:13.700, H:16.500
300, +:13.700. B:17.700
e
KB (D =R KB (FFH %
RE%
AR (FFH=ERE | KR(FFHR 700
2,900, A:12.100, +:13.400. H:11.100
2 00, :12.900, +:13.400. H:11.100
.900 400
.900 700
1000 700, B1:12.700
700
ERBE .900
.900
000
000
500 | 62%
200 | 59%
200 | 59%
[ S (P ER) =L (3 F i 2 5 B (P ER) 5 100 57 1
FLIR G %) 3 _J
5700, F:15.100
13.400 14.600
AMEFFR)=HH  [FLIRFFR) H ;gg
700
EHRR 700
700
700
AMEFFR) =B [FLIRFTFR) H ‘ggg
RER H 800
B 800
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[R——5%B 1 EER(6AB~14REBFE)

WEEAE : 2018/01/25 ~
F# e
B EE | BAH =
| ERE | no2 [
KR (BE8) =ALAR (B F %) | B (B 3¢ | J 55 14700 | 68% |%+:16.700. H:12.300
55 9.200 80% |+ H:10.800
55 9.200 80% |+ H:10.800
FLIR (F TR 3 J 55 13900 | 70%
55 9.600 79%
55 14.200 69% :13.000, £:12.300, H:13.700
PNACE] KR (G5 % |_JL2051 | 55 800 64% 500, £:9.400
55 .800 64% 19,500, £:9.400
55 10.700 57% = 10.400
55 10.200 59% 10.400. £:9.900
EHES 55 .800 60% 00, H:9.600
55 10.700 57% 10.200. £ H:10.400
55 .700 61%
55 700 61%
HRECRE)=K5 HERER)E [ J 55 500 66% | £:14.000, L.
55 .500 66% |
55 .400 66% |
55 700 68%
55 .000 67% |&:
55 .000 67% |&:
K% 55 .500 69% | K:
55 .500 69% | K:
55 .000 67%
55 700 68%
55 100 65%
55 .500 69%
R CAE) R (AR % | J 55 500 | 70%
55 .300 68%
55 .300 68% A .
55 700 69% F:13.600. £ 00, H:14.400
55 700 69% B: :14.800. H:13.400
55 700 69% =
55 .500 70% | A:
55 .000 68% |A:
RERHR 55 .300 68% :
55 .800 64% A
55 100 66% |A:
55 .000 68% |A:
55 .800 64% | KA A
55 .400 67% |H:13.900. £ :12.700, H:15.300
55 700 69% | H:13.000. £ .300
55 .900 69% |7k:14.000. £
RRCPE)-2H | RR(IE % | J 55 700 | 69% |£:13.400. £:14,
55 700 69% |£:13.400. £:15.000
55 .600 67% | kok:12.700. &:13.000. £:13.900, +:14.100
55 .000 68% :14.600, £:14.100. H:14.800
55 .000 68% 3.800. 71
55 .200 68% .
= I 55 .200 68%
55 700 69%
55 700 69%
55 700 69%
55 700 69%
55 .500 70%
KXRFH-BH | AR(EDE 55 300 | 70%
55 .300 70%
55 .300 70%
FHR 55 800 1% 3 :
55 .800 69% 900, £:
55 .300 70% 13.600
KR (FFH==iR KB (R % 55 100 67% 700, £:15.400.
=R 55 .600 66% 700, £:15.400.
KXREFDAE | AR(EHFE | J 55 100 | 62%
55 .900 57%
55 .800 60%
55 .000 60%
55 .800 60%
55 .900 54%
55 .400 55%
55 .400 55% :17..
P 55 400 58% :15.
55 400 58% :15.
55 400 58% 214,
55 ,800 57% =
55 ,800 60% 216,
55 ,300 59%
55 ,300 59% |7
55 ,600 61% |7 ,200, 1£:13.200, H:15,900
KIR(FF=FRM | AR (GFH % | JL2371 | 56 900 | _59% |4 :
L2373 | 55 ,400 57% |% 11,900
L2375 | 55 .400 60% | K
L2377 | 55 .900 59% |%
R L237; 55 .900 59% |&
L237. 55 .400 60% | K
L2371 55 .400 60% |4 12,800
L237: 55 .900 59% |% . £:11.400
KR (BFH=EES PACGEEE T L 55 100 63% |% 212,700, H:10,700
L 55 ,400 59% |7 . K:12,100, +:13,400, H:11,100
L: 55 ,400 59% 212,900, 1:13,400, H:11.100
[ JL2409 | 55 .900
411 | 55 ,900
L2415 | 55 .000
L2419 | 55 100
ERBF | JL2400 | 55 900
[ JL2402 | 55 900
L2404 | 55 .000
[ JL2406 | 55 ,000
4 55 .500
L24 55 ,200
L24 55 ,200
B (R ED) =ALIE (B T B 2 () 3 55 .10000
55 A
55 ,100
55 ,100
55 ,100
EUAEEZE: 55 100
55 ,100
55 17,600
L311 55 17.600
L311 55 13,400
AR (H TR =B |FLW(H T ) 54 JL2803 | 55 700
,700
,700
EHRE 700
[ J 700
L: ,700
AU HTB)=IE  |FLI (BT %) 54 _JL2821 | 55 800
2827 | 55 7.800
E%E 2822 | 55 7,800
2828 | 55 7.800
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EEEAA . 2018/01/25 ~
R e
=40] Ea | BAH 1
| ERE | no2 [
KR (BAZE) =#LIR (3 F#%)| KB (BId) % [ J 55 14.700 68% [&+:16.700, .300
55 9.200 80% |+ H:10.800
55 9.200 80% |+ H:10.800
HLIR (3T TR Y 55 13.900 70%
55 9.600 79%
55 14.200 69% :13.000, £:12.300, H:13.700
PG ] KR (G5 % |_JL2051 | 55 800 64% 500, £:9.400
55 .800 64% 19,500, £:9.400
55 10.700 57% = 10.400
55 10.200 59% 10.400. £:9.900
EHES 55 .800 60% 00, H:9.600
55 10.700 57% 10.200. £ H:10.400
55 .700 61%
55 700 61%
HRCRA)=K5 HRCHE) % | _J 55 500 66% | £:14.000, L.
55 .500 66% |
55 .400 66% |
55 700 68%
55 .000 67% |&:
55 .000 67% |&:
KnF 55 .500 69% | K:
55 .500 69% | K:
55 .000 67%
55 700 68%
55 100 65%
55 .500 69%
Hw (FE) FRRE) R J 55 500 | 70%
55 .300 68%
55 .300 68% A .
55 700 69% |H:13.600, & 00, H:14.400
55 700 69% |A: :14.800. H:13.400
55 700 69% i
55 .500 70% | A:
55 .000 68% |A:
RERHR 55 .300 68% :
55 .800 64% A
55 100 66% |A:
55 .000 68% |A:
55 .800 64% | KK
55 .400 67% |A: :12.700, H:15.300
55 700 69% | H:13.000. £ .300
55 .900 69% |7k:14.000. £
R (DB -2 FRRE) R J 55 700 | 69% [%:13.400, £:14.
55 700 69% |£:13.400. £:15.000
55 .600 67% | kok:12.700. &:13.000. £:13.900, +:14.100
55 .000 68% :14.600, £:14.100. H:14.800
55 .000 68% 3.800. 71
55 .200 68%
= I 55 .200 68%
55 700 69%
55 700 69%
55 700 69%
55 700 69%
55 .500 70%
KR () =HF&K KB (75 % 55 .300 70%
55 .300 70%
55 .300 70%
FHR 55 800 1% 3 :
55 .800 69% 900, £:
55 .300 70% 13.600
KR (FFH==iR KB (R % 55 100 67% 3.700. £:15.400.
=R 55 .600 66% K:13.700. £:15.400.
KR (FFH)=L& KB (FH % | J 55 .100 62%
55 .900 57%
55 .800 60%
55 .000 60%
55 .800 60%
55 .900 54%
55 .400 55%
55 .400 55%
P 55 400 58%
55 400 58%
55 400 58%
55 ,800 57%
55 ,800 60%
55 ,300 59%
55 ,300 59% |7
55 ,600 61% |7 ,200, 1£:13.200, H:15,900
KR (FFH) =Rk KR () % | _JL2371 | 55 .900 59% |@ ¥
L2373 | 55 ,400 57% |% 11,900
L2375 | 55 .400 60% | K:10,600
L2377 | 55 .900 59% |% ,900, H:14,100
R L237: 55 .900 59% |£:12,400, £:13,300
L237. 55 .400 60% |4
L2371 55 .400 60% |4 12,800
L237: 55 .900 59% |% . £:11.400
KR (BFH=EES PACGEEE T L: 55 100 63% |% 212,700, H:10,700
L 55 ,400 59% |7 . K:12,100, +:13,400, H:11,100
L: 55 ,400 59% 212,900, 1:13,400, H:11.100
[ JL2409 | 55 .900 4
411 | 55 ,900 4
L2415 | 55 .000 3
L2419 | 55 100 1 -
BERB% | JL2400 | 55 ,900 e
| JL2402 | 55 900 *:
L2404 | 55 .000 x:
| JL2406 | 55 ,000 *-
L24 55 .500 2
L24 55 ,200 59%
L24 55 ,200 59%
B (R Es) = AL W (37 T | & o 2 () 3 55 100 57%
55 ,400 68%
55 ,400 68% 700, H:16,600
55 ,400 68% 14,600
55 ,500 70% 3,400, 1 H:14,600
ECICES Ik 55 ,400 68% 14,600
55 ,400 68% 14,600
55 ,100 57% 7,100, H:19.500
L311 55 ,100 57% 7,100, H:19.500
L311 55 ,400 68% 14,600
ARFTR-BF |fLIRFTH) H_JL2803 [ 65 700 |7 900
,700 7 :7.900
,700 7 #:7,200, H:8,400
BHR ,700 7
[ J 700 7
L: ,700 7
ARFTR-UE  [HLIRFTH) #_JL2821 [ 65 800 | 7
2827 | 55 7.800 7
E%E 2822 | 55 7,800 7
2828 | 55 7.800 7
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TR—N\—%FGIEEXR(6A22~308EFEN)

™ 6/22-30
R ®% | mAM - A= —%E
| ERE | no2 E
KB (BEEE) =4LIR (37 Fi%)| KBk (BdE) % | J 14.700 £:19.800. H:12.300
9.200 10.800
9.200 10.800
HLIR BT F R $_J 13.900 £:14.600
9.600
14.200 113000, £:17.600. H:13.700
KR (5 =18/ KB (P % | J .800 :9.500, £:9.400
800 :9.500. £:9.400
10700 10.400
10200 10.400
BER 800 00, H:9.600
10.700 10.200, H:10.400
700
700
RR CHE)=&H0 RR CHE) & 300 113.100, £:9.900. H:9.900
14.800 +15.000, +:15.300. H:12.600
9.900 0900 _
1300
300
800
800
iR 200
100 . H:11.300
9.900
9.900 —
500 310900
200 t:12.300. B:15.000
.200 00
FR(CRE)=X5 RRPE)F [ J .500
500 :
400 | 66% |kl
000 | 67% |k
000 | 67% |&:
000 | 67% |&:
KRR % 500 | 69% |k
500 | 69% |k
000 | 67%
700 | 68%
100 | 65%
500 | 69%
FR(CRE) =R RRPE)F [ J .500 70%
300 | 68% |&:
300 | 68% |[HZ
700 | 69% |A:
700 | 69% |AH:
700 | 69% %
500 | 70% [A:
000 | 68% |A:
AR 300 | 68% _|&:
800 | 64% |k
100 | 66% |A:
000 | 68% |A:
800 | 64% | 4A
400 | 67% |A:
700 | 69% |A:
900 | 69% |k
RR(CRE)=215 RRCAE)FE [ J .700 69%
700 | 69%
600 | 67% K:13.000. %:13.900. £:14.800
000 | 68% |A: 4.100, £:13.900. H:14.800
000 | 68% |A: 12,700, £:14.300. H:14.800
200 | 68% |kt H:15.300
B 200 | 68% |4l 0. £:15.300. H:12.700
700 | 69% |&: :13.400
700 | 69%
200 | 68% H:14.800
700 | 69% 00. H:14.800
500 | 70% 00
KR () =HF&K KR (75 % .300 70%
300 | 70%
300 | 70%
EHRE .800 7%
800 | 69% 1,900 £ B:14.100
300 | 70% 13,600
KR (FFH==R PNTAGISES ,100 67% |A:13,700, £:15,400.
SiR% 600 | 66% |A:13,700, £ H:15,900
KR (B =& ENACEE I 100 | 62% |J<H:13,600, A:12,400 %:15.200, £:16,800
900 | 57% | 0, +:17,300, H:13,600
800 | 60% | k] 16,200, £:17,300, H:13,600
000 | 60%
800 | 60%
900 | 54%
400 | 55%
400 | 55%
Wa% 400 | 58%
400 | 58%
400 | 58%
800 | 57%
800 | 60%
300 | 59%
300 | 59% | 115,900
600 | 61% | 6,200, £:13,800, H:15900
KR (FFH) =R KB (75 % .900 50% |2 4
400 | 57% |%:13, :11,900
400 | 60% |A:10.600
900 | 59% |%:12,900. H:14.100
RIGS .900 50% |£:12,400, :13,300
400 | 60% |A:10.600
400 | 60% |7:10,600, H:12.800
900 | 59% |4 ) 11,400
KR (BFFH=ERS KB (75 % .100 63% |#:12,000, £:12,800, H:10,700
,400 59% |7K#:12,900, A:12,100, +:13.400, H:11,100
400 | 59% 100, £:12.900, %:13,400, H:11,100
,900 4 .400
,900 4 ,700
.000 3 .700. ,700
700 1 900, 1 .800, H:13,100
ER&R .900 7K:10,600., F:11.400. H:10,700
,900 x
.000 x
.000 P
.500 2! Y
200 | 59% [&:
,200 59%
B () =AU (3 TR B B 2 (D) 54 100 | 57%
,400 68% ,100, H:16.600
,400 68% 700, H:16.600
,400 68% 14,600
,500 70% 3,400, 1 H:14,600
FLIR (BT T %) 34 ,400 68% 14,600
,400 68% 14,600
,100 57% 7,100, H:19.500
,100 57% 7.100, H:19,500
,400 68%
WIRGFTFR)-BR |[fREF TR H .700 7
,700 7
,700 7
BEHR 700 7
| J 700 7 7,900, +£:7,400
L: ,700 7 .900, 1:7.400
ARGTFR)=TE  |4LIR TR L .800 7 0,200
7.800 7 ,500, H:9.300
HER 7.800 7 500
7.800 7 500
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[R—N—%FIEEXR(TAI~12BBESD)

7/1-12
% i ]
B @ o] E
R mEiE |
KR (5 =18/ KB (P % | J .500 65% 00
500 65% | +:8.800
10500 | 61% [#H:11.000
[EEES 300 66% |A£1:10.100
700 64%
700 64%
R (PE)=X%H R (PE) % 400 | 66% |1:14.800, H:12.500
900 | 65% |A:14.400, £:15.500. £:15.800, H:13.600
900 | 67% 00 00
400 | 68%
400 | 68% |A:13, 0. &
300 | 69% | H:13.600, & H:15.500.
R 000 | 69% | H:12500, &£:14.100
000 | 69% | H:12.600, &+:14.100
400 | 68% | A:13.600, £:13.900. H:14.600
400 | 68% |A:
1900 | 65% |A:
500 | 71% |&A:
FR(CRE) =R HR(PA)F [ JL .400 71% _[B:
800 | 68% |A:
500 | 69% |k
500 | 69% |k 00, £:15.500. H
700 | 68% [ K:14.000. £:15.000, £:13.600. H:15.700
400 | 69% +:13.600, H:15.700
R 900 | 70%
900 | 70% % 700
600 | 70% [A: 14400, :14.700, H:15.200
500 | 66% |A: N 00
500 | 66% |A: 00, 00
400 | 71% [&
FR(CRE) =R RRPE)F [ J .500 71 X
400 | 671% [& 115,100, H:
500 | 67% [Y 100, H:14.100
200 | 65% 400
000 | 66% |~ 400
400 | 69% |k 100, H:14.500
600 | 67% 14,100, B:15,
900 | 68% |A: 00
33 .900 | 68%
700 | 66%
600 | 67%
600 | 69%
200 | 65%
900 | 68%
700 | 66%
500 | 67%
RR(CRE)=21 ERCRE)S | J .100 70%
400 | 69%
100 | 68%
100 | 68% |H:14.600. /K:13.600. £ H:14.700. £:13.400
600 | 67% |&0K:13.100. AE:13.600. H:15.200
100 | 68% 15,000, +:13.100. H:15.800
S 600 | 69% £:14.700. £:15500, H:13.100
100 | 70% :14.700. B:13.600
100 | 70% _H:14.100
100 | 70% 4500, £:13.600. H:14.700
100 | 70% 4500, %:13.400. H:15.200
.000 | 70% 113600, 600
K (FFD % 900 | 67%
R% 400 | 66%
KIR (D) =& RBR () % |_JL: 400 | 66% 16.800. +:17.300
700 | 58% 1800, H:13.300
700 | 63% 800, +:15.800. H:12.400
100 | 59% 00
600 | 61%
100 | 56%
600 | 58%
600 | 58%
wa% 700 | 60%
700 | 60%
700 | 60%
100 | 59%
200 | 62%
100 | 59%
400 | 66%
400 | 66%
KR (FFH) =R KB (75 % .900 62%
400 | 60%
.400
,900 A:13.200, %:12,300, H:14,400
R .900 #:12,900, +:13,700
.400
.400 200
.900 ,900. £:10,600, H:13.700
KR (BFFH=ERS KB (75 % .200 66! ¥
300 | 59% 800, H:11,400
400 | 62% 13,800, H:11.400
.900 | 66%
.900 | 66%
000 | 66%
800 | 64%
BEREH 900 66%
.900 | 66% 800
200 | 66% 700, H:11,800
200 | 66% ,900. £ H:11,800
100 | 63% .200, £:11,900, T H:13,600
300 | 62% 100, H:14,500
300 | 62% 4,100, H:14.500
B (R Em) = AL W (37 T | & o 2 () 3 55 22,200 50% 5,900, H:20,800
[ 55 900 | 66% 9,100, H:16,100
55 900 | 66% 8,900, H:16,100
55 900 | 66% 15,900
55 500 | 70% 4,900, £ H:15,900
ECACETIE 55 900 | 66% 15,900
55 900 | 66% |EH:15900
55 600 | 60% |H:21.100. £:19.100, £:17.100
55 7.600 60% [A:21.100, #:19.100, £:17,100
55 4,900 | _66% [t H:15.900
IR FR)=HHF [FLRGFFR) Y 55 7.400 72%
55 7,400 72%
55 7.900 70%
EHR 55 9,100 65%
[ J 55 7,400 7
L2810 | 55 7,400 7
IR (BT TR =B [#LOR (3 F k) $§_JL2821 | 55 .500 7
L2827 | 55 500 7 H:10,600
FEFE | JL2822 | 55 ,500 7 #1:10,600
L2828 | 55 ,500 7 £ £:10.600
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7/17-23
XF —— A==%H/
B B31% &
R CRE) =18/ HR(PE)F 2.500 7% 6.500
3100 | 70%
7500 | 60%
000 | 56%
.000 | 56%
100 | 58%
800 4
200
200 7
800 1
200 7
100 3
800 4
300 | 60%
7.300 | 60%
300 | 58%
400 | 58%
[EEES .700 62%
700 | 62%
800 | 61%
700 | 57%
600 | 62%
200 | 65%
200 | 65%
200 | 67%
200 | 67%
200 | 65%
200 | 65%
200 | 65%
900 | 64%
900 | 64%
300 | 60%
5900 | 64%
3200 | 70%
FRCRE) =4 (BH) | RRCHE) R |_J 7.600 3
20.600 7
20,600 7
20,600 7 E
9.600 | 59% [®E:21. 00
8600 | 61% [A:19.200. % +:21.200. H:17.600
7.300 18.800
6.800 18.300
9.700
8700

16.800 65% |+ H:18.300
16.800 65% :28.700. + H:18.300
:14.400

ik R R |_J 8.700 82%
8.700 82%
9700 80%
700 | 78% :
800 | 65% |4
.000
.000
.000
20.600
20.600 7
8.600
7.600
KR () =18 KB (75 % .500
500
.700
BER 200 | 59%
600 | 61%
600 | 61%
RR(CAB)=E8 ERCPE)F | J .200 70%
400
400
.200
600
600
000
500 1 15 13,
Le% 200 7 £:12.400. H:11.900
000 | 62 112,500
200 0% £:12.200, B:11,400
200 | 70% ,800, +:13,000, H:13,800
600 | 63% ,600, B:14,100
600 | 63% ,600, B:14,100
000 | 59% .200, £:13,600, H:14,100
300 | 59% 200, + H:14.100
RBRCHE) =KL EACEES .700 69% 400, £:14,100, H:12,600
000 | 61% 400, 1
,400 | 65% ,000. 1
,000 | 69% 100, 1
600 | 59% 1400, 1
600 | 59% 7,400, 1
EAIES 500 62% 5,200,
500 | 62%
100 | 68%
400 | 68%
200 | 60%
200 | 60%
RR(BE)=A7 | RRCHE)%E | J 400 | 64%
400 | 64% 116,200, £:17.100, H:14,900
400 | 66% :17,000
400 | 66% 00
400 | 66%
000 | 67% X 16,
KAHE 000 | 67% X ,100, H:13500
000 | 67% ,100, H:13500
400 | 66% ,600
400 | 66% X
,900 63% | B 0. A:15,400, £:16.600, H:17.200
500 | 68% |4 ,000
HE (FE)=REAR HRCAE)FE | J ,500 69% |4 5,600
.900 | 66% |4 00, £:15.,600. H:13.500
900 | 66% | +:15500, H:15,100
600 2 A:15,900, X 7K:15,400
,000 3% | A :14,900, KK:14.400
400 7% |&+:15,100. B:14.900
600 4 ,000. A:14.600, £:15,100
400 7% | F:16.100. JKA:14.900, % H:17.100
AR ,900 6% | H:15,100, #:15500, +:17.100
600 A:15,600, kA H:16.100
600 7
600
600 B
,900 % |H
,900 4% | H
,500 4 K
RR(DE)-28 | RRCHE)%E [ J 400 E
400 7% |4
100
100 | 65% 00, £:14.400, H:16.100
600 | 64% [/ :14,600, B:16,500
100 | 65% [/ 8
S 500 4% |}
400 IE:
400 7% )
400 7 5,600, X:16,000, £:15,500, £:14.900. H:16.100
400 7 4,900, £:15,500, H:16.500
000 | 68% |J&:14,600. £:13,500. H:15.600
KR (7 =H&F KR () .300 65% 6.600
.300 | 65% 16.600
.300 | 65% 500, H:16.600
EHE 800 | 66% 100
.300 | 65% 800+ H:17.100
.300 | 65% 500, H:16.600




TR—N—%FGIHEER(TA1T~23BEED)

EEBEAB 2018/01/25 ~
i) ;(1/,]\7_29%1-3
) @5 | BAM [—— o=
BB ERE B3R &
KR (FFH==iR KB (FFF) % 55 7.100 62% |+ H:18.400
=IRE 55 7.100 62%
RBR (5D =& KR (A5 | J 55 4.800 60%
| J 55 7.200 54%
| J 55 4.900 60%
| J 55 200 54%
| J 55 .200 56%
| J 55 .300 53%
| J 55 .800 55%
55 .800 55%
wes [ J 55 .900 57%
| J 55 .900 57%
| J 55 .900 57%
| J 55 .300 56%
| J 55 .400 58%
| J 55 .400 58%
| J 55 .600 63%
55 .600 63%
KR (75 =R KR (£751) 5 | JL: 55 .500 60%
55 .000 58%
55 .000 62%
55 .500 60%
RIGH 55 .500 60%
| J 55 .000 62%
[ J 55 .000 62% .
55 .100 55% |7K:12.500, %:13.700, £:11.200, H:14.600
AR(BF=ERE | KR (% 55 -800 64% | +:13.500
55 .500 58% |7K:12.400, +:14.600, H:13.100
55 .500 58% .400, £:14.600. H:12.000
55 .400 65% .500
55 .400 65% .500
55 .600 64% .400, H:14.500
55 .400 62%
BEREH 55 .400 65%
55 .400 65%
55 .800 64% 3.500, H:12.400
| J 55 .800 64%
55 .900 60%
55 .900 60%
55 .900 60%
(B (P ah) =AL IR (37 7 | & 2 2 (P ) 3 55 .800 46% |1
55 .300 65%
55 .300 65%
55 .300 65% __
J 55 .500 67% .300, £ H:17.000
#LOR (BT F %) 34 J 55 .300 65% 100, H:16.600
| J 55 .300 65% .100, H:17.100
J 55 .600 60% 15.100
J 55 7.600 60% :15.100
J 55 5.300 65%
HWIRGFR)=BFR |[fLIRGTTR R 55 7.400 72%
[ 55 7400 | 72%
J 55 7.900 70%
HHR [ J 55 9.300 65%
[y 55 7.400 7
J 55 7.400 7
AIRGRFR) =B |FIRGTFR) M 55 .500 7 H1:10.900
J 55 .500 7 H:10.900
PCERE 55 500 | 72% |&T:10900
J 55 .500 72% t:10.900
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7/24-31
= A%k
P ana [E0W
e EES
R CRE)=18R RRCRE) % 2.500 71% 213600, E:
3100 | 70% [K:13.500. &:
7500 | 60% |XE:18.700, %
000 | 56% | &:19.700,
000 | 56% | K:21.900,
100 | 58% | 4:18.200,
800 4% | X:18.200.
200 7% | X:15.700.
200 7% | J:14.700,
800 1% [ &:14.700,
200 7% | X:15.800.
100 3% _[£:18.400.
800 4% | X:18.200.
300 | 60% | k:18.200,
7.300 | 60% [%:18.200,
300 | 58% [ :18.700,
400 | 58% [ J:19.700,
[EEES .700 62% [£:16.400, 1
700 | 62% |%:16.300,
800 | 61% |k
700 | 57% |k
600 | 62% |k
200 | 65% |k
200 | 65% |k
200 | 67% |k
200 | 67% |k
200 | 65% |k
200 | 65% |k
800 | 64% |
900 | 64% |A:
900 | 64% [A:
300 | 60% |k
5900 | 64%
3.200 | 70%
FRCRE) =4 (BH) | RRCHE) R |_J 7.600 3
20,600 7
20,600 7
20,600 7
9600 | 59%
8600 | 61% |4 1.200. H:17.600
7.300
6.800
9.700
8.700
16.800 | 65% | H:18.300
16.800 | 65% [£:28.700. £ H:18.300
PR GRE 5 [ 8700 82% | H:14.400
8.700 82%
9.700 80%
700 | 78%
800 | 65% |4
.000
.000
.000
20,600
20,600 7
8.600
7.600 :
KR () =18 KB (75 % .500
500
700
E RS .200 50% |
600 | 61% |k
600 | 61% |k
FRCRE) =R RERCRE) % .900 70% |
400 | 71% |k
400 | 71% |k
100 | 67% |k
900 | 64% | %
[EITES 1400 | 71% |k
400 | 66% |%:
400 | 71% |k
900 | 64% |%:
900 | 64% | Ad
RR(ABR)=E8 ERCPE)S | J .200 70% K
400 | 58% |k
400 | 58% |k
200 | 59% |k
600 | 66% |&:
600 | 66% |%:
,000 2% |k
500 1% |k
RB% ,200 7% |4
000 | 62% |k
.200 0% [
200 | 70% |k
600 | 63% |k
600 | 63% |k
000 | 59% |k
300 | 59% &
RR(CAER)=-#8 RERCPE)S | J ,800 64% | K:
800 | 64% |A:
200 | 69% |4
200 | 69%
800
,800
,800
EER ,700
.700
.700 7
100
100
100
100
RR(CRE)=FH RERCRE) % ,000 %
.000 | 55%
200 | 69%
000 | 66%
000 | 66%
000 | 58%
.000 | 55%
B ,900 64%
900 | 61%
200 | 69%
200 | 69%
.200 | 63%
500 | 54%
800 | 56%
RECABR) =B RRECRE)# 100 65% N
100 | 63% 800, £:16.100. H:13,000
800 | 69% 1,900, £ H:14.300
800 | 63%
.600 | 56%
SRS .400 70%
400 | 64%
800 | 69%
4,900 | 60%
.600 | 56%
R CRE)=#l RRECRE)# .700 69%
000 | 61%
400 | 65%
000 | 69%
600 | 59%
600 | 59%
[EAIIES 500 62%
500 | 62% ;
100 | 68% 14,600
400 | 68% ,900. + H:14.600
.200 | 60% ,300. +:13500, H:16.800
.200 | 60% 500, +:13.500, H:16.800
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7/24-31
% T ]
ER ana [E0W
- EES
FR(CRE)=X5 HR(PE) R 400 64% [+:15.500, B:
900 | 63% |A:15.400. A: 00, H:14.900
1900 | 65% 14400, &
400 | 66% A 1:14.900. %
400 | 66% |H:14.600. &
000 | 67% |A:14.600. K:
R 000 | 67% |k
000 | 67% |k
400 | 66% |H3
400 | 66% |H3
900 | 63%
500 | 68%
FRCRE) =R HR(PE)F [ JL605 | .300 67%
600 | 66%
100 | 65%
100 | 65% |k
900 | 68% |A:
200 | 67% |A:
R 700 | 68% |A:
700 | 68% |A:
600 | 66% | X
100 | 63% |k
7100 | 63% [J
L 100 | 67% |k
FR(CRE) =R RRPE)F [ J .500 69% | K4
900 | 66% |k
900 | 66% |/
600 | 62% 7
000 | 63% A4
400 | 67%
600 | 64%
900 | 66% |A:
33 900 | 66% |A:
100 | 63% [A: 1000, % £:16.600
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